
MATHS

BOOKS - OBJECTIVE RD SHARMA ENGLISH

PLANE AND STRAIGHT LINE IN SPACE

Illustration

1. Find the equation of the plane through the points

A. 

B. 

C. 

D. none of these

Answer: B

A(2, 2, − 1), B(3, 4, 2)andC(7, 0, 6. )

5x + 2y + 3z = 17

5x + 2y − 3z = 17

5x − 2y + 3z = 17

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tTZabYli5xzM


Watch Video Solution

2. Write the equation of the plane whose intercepts on the coordinate

axes
are 
respectively.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

−4, 2and3

3x + 6y + 4z = 12

−3x + 6y + 4z = 12

−3x − 6y − 4z = 12

3. The intercepts of the plane  on the coordinate

axes are

A. 

5x − 3y + 6z − 60 = 0

10, 20, − 10

https://dl.doubtnut.com/l/_tTZabYli5xzM
https://dl.doubtnut.com/l/_VLKm9etC8haH
https://dl.doubtnut.com/l/_JtnG2XUBQvYm


B. 

C. 

D. 

Answer: C

Watch Video Solution

10, − 20, 12

12, − 20, 10

12, 20, − 10

4. If the plane  meets the axes in A,B and C then

the centorid of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7x + 11y + 13z = 3003

ΔABC

(143, 91, 77)

(143, 77, 91)

(91, 143, 77)

(143, 66, 91)

https://dl.doubtnut.com/l/_JtnG2XUBQvYm
https://dl.doubtnut.com/l/_AmRXMz8kM6mC


5. A plane meets the coordinate axes in A,B,C such that the centroid of

triangle ABC is the point . If the equation of the plane is 

 then 

A. 1

B. 2

C. 3

D. none of these

Answer: C

Watch Video Solution

(p, q, r)

+ + = k
x

p

y

q

z

r
k =

6. The vector equation of a plane passing through a point having position

vector  and perpendicular to the vector , is

A. 

2 î + 3ĵ − 4k̂ 2 î − ĵ + 2k̂

→
r . (2 î − ĵ + 2k̂) = 7

https://dl.doubtnut.com/l/_AmRXMz8kM6mC
https://dl.doubtnut.com/l/_0gYBSF6VY9tQ
https://dl.doubtnut.com/l/_4OTGhLQLk6Iv


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

→
r . (2 î − ĵ + 2k̂) = − 7

→
r . (2 î − ĵ + 2k̂ = 4

7. Find the vector equation of a plane which is at a distance of 8 units

from the origin and which is normal to the vector 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

2 î + ĵ + 2k̂.

→
r . (2 î + ĵ + 2k̂) = 8

→
r . (2 î + ĵ + 2k̂) = 24

→
r . (2 î + ĵ + 2k̂) = 4

https://dl.doubtnut.com/l/_4OTGhLQLk6Iv
https://dl.doubtnut.com/l/_KDo0NiCWqjBO


8. The angle between the planes 

 and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r . (2 î − ĵ + k̂) = 6

→
r . ( î + ĵ + 2k̂) = 5

π

3

2π

3

π

6

5π

6

9. Find the angle between the planes

A. 

B. 

x + y + 2z = 9adn2x − y + z = 15.

π

6

π

3

https://dl.doubtnut.com/l/_KDo0NiCWqjBO
https://dl.doubtnut.com/l/_BPUQrHWJ5g2g
https://dl.doubtnut.com/l/_55m0wJQlScKa


C. 

D. none of these

Answer: B

Watch Video Solution

π

4

10. If the planes  and  are

perpendicular then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

→
r . (2 î − ĵ + 2k̂) = 4

→
r . (3 î + 2ĵ + λk̂) = 3

λ =

2

−2

3

−3

https://dl.doubtnut.com/l/_55m0wJQlScKa
https://dl.doubtnut.com/l/_xNaguQwZkE0q
https://dl.doubtnut.com/l/_NZgt2DBai01N


11. If the planes  an  are

perpendicular then 

A. 1

B. -1

C. 2

D. -2

Answer: A

Watch Video Solution

2x − y + λz − 5 = 0 x + 4y + 2z − 7 = 0

λ =

12. The acute angle between the planes  and 

 is

A. 

B. 

C. 

2x − y + z = 6

x + y + 2z = 3

45∘

60∘

30∘

https://dl.doubtnut.com/l/_NZgt2DBai01N
https://dl.doubtnut.com/l/_elPTW0zR0C4S


D. 

Answer: B

Watch Video Solution

75∘

13. In the space the equation  represents a plane

perpendicular to the plane

A. YOZ

B. ZOX

C. XOY

D. 

Answer: A

Watch Video Solution

by + cz + d = 0

Z = k

https://dl.doubtnut.com/l/_elPTW0zR0C4S
https://dl.doubtnut.com/l/_AeQ0U4knhp87


14. The equation of the plane passing through the point  and

perpendicular to the planes  and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1, 1, 1)

2x + y − 2z = 5 3x − 6y − 2z = 7

14x + 2y − 15z = 1

14x − 2y + 15z = 27

14x + 2y + 15z = 31

−14x + 2y + 15z = 3

15. Vector equation of the plane

 in the scalar dot product

form is

A. 

B. 

r = i − j + λ(i + j + k) + μ(i − 2j + 3k)

→
r . (5 î − 2ĵ − 3k̂) = 7

→
r . (5 î + 2ĵ + 3k̂) = 7

https://dl.doubtnut.com/l/_2UgLcqMRlTIm
https://dl.doubtnut.com/l/_MKZDbOo4Oorg


C. 

D. none of these

Answer: A

Watch Video Solution

→
r . (5 î − 2ĵ − 3k̂) = − 7

16. The vector equation of the plane passing through the points

 and , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

î + ĵ − 2k̂, 2 î − ĵ + k̂ î + ĵ + k̂

→
r . (9 î + 3ĵ − k̂) = − 14

→
r . (9 î + 3ĵ − k̂) = 14

→
r . (3 î + 9ĵ − k̂) = 14

https://dl.doubtnut.com/l/_MKZDbOo4Oorg
https://dl.doubtnut.com/l/_6yoVDPwb8NVP
https://dl.doubtnut.com/l/_fvtQvJCQRW69


17. The equation of plane passing through the point  and

paralel to the plane  is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

î + ĵ + k̂

→
r . (2 î − ĵ + 2k̂) = 5

→
r . (2 î − ĵ + 2k̂) = 5

→
r . (2 î − ĵ + 2k̂) = − 3

→
r . (2 î − ĵ + 2k̂) = 3

18. Find the equation of the plane through the point (1,4,-2) and parallel

to the plane .

A. 

B. 

C. 

−2x + y − 3z = 7

2x − y + 3z = 8

2x − y + 3z + 8 = 0

2x − y + 3z = 4

https://dl.doubtnut.com/l/_fvtQvJCQRW69
https://dl.doubtnut.com/l/_EuV795wYngO9


D. none of these

Answer: B

Watch Video Solution

19. The direction cosines of the line  are

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

6x − 2 = 3y + 1 = 2z − 2

, ,
1

√14

3

√14

2

√14

, ,
1

√14

2

√14

3

√14

, ,
3

√4

2

√14

1

√14

https://dl.doubtnut.com/l/_EuV795wYngO9
https://dl.doubtnut.com/l/_C9W0NO8yuKuj


20. The equation of a line passing through (1,-1,0) and parallel to

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x − 2

3

2y + 1

2

5 − z

−1

= =
x − 1

3

y + 1

3

z − 0

−1

= =
x − 1

3

y + 1

1

z − 0

−1

= =
x − 1

3

y + 1

1

z − 0

1

= =
x − 1

3

y + 1

2

z − 0

1

21. The line  cuts the plane  at

A. (3,4,5)

B. (4,6,7)

C. (4,5,8)

= =
x − 3

1

y − 4

2

z − 5

2
x + y + z = 17

https://dl.doubtnut.com/l/_jcmKkjM4rNpr
https://dl.doubtnut.com/l/_qhiahRBuGedU


D. (8,4,5)

Answer: B

Watch Video Solution

22. The distance between the point (3,4,5) and the point where the line

 meets the plane  is

A. 1

B. 2

C. 3

D. none of these

Answer: C

Watch Video Solution

= =
x − 3

1

y − 4

2

z − 5

2
x + y + z = 17

https://dl.doubtnut.com/l/_qhiahRBuGedU
https://dl.doubtnut.com/l/_fsef15mC1aRn


23. The disatance of the point  from the point of intersection of

the line  and the plane , is

A. 

B. 

C. 

D. 8

Answer: B

Watch Video Solution

(1, 0, 2)

= =
x − 2

3

y + 1

4

z − 2

12
x − y + z = 16

3√21

13

2√14

24. Find the distance of the point  from the line

 measured parallel to the plane 

.

A. 2

B. 4

(2, 3, 4)

= =
x + 3

3

y − 2

6

z

2

3x + 2y + 2z − 5 = 0

https://dl.doubtnut.com/l/_54igbIpWK9zy
https://dl.doubtnut.com/l/_Wgm0P0eDTL7f


C. 6

D. 7

Answer: D

Watch Video Solution

25. The distance of the point  from the plane 

measured along the line  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, − 5, 9) x − y + z = 5

x = y = z

3√10

10√3

10

√3

20

3

https://dl.doubtnut.com/l/_Wgm0P0eDTL7f
https://dl.doubtnut.com/l/_9fOxsoXBHYC4
https://dl.doubtnut.com/l/_97VTR3NG16Pe


26. The vector parallel to the line of intersection of the planes

 and  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r . (3 î − ĵ + k̂) = 1

→
r . ( î + 4ĵ − 2k̂) = 2

−2 î + 7ĵ + 13k̂

2 î + 7ĵ − 13k̂

−2 î − 7ĵ + 13k̂

2 î + 7ĵ + 13k̂

27. The direction cosines of the line  are

A. 

B. 

C. 

D. none of these

x − y + 2z = 5, 3x + y + z = 6

, ,
−3

5√2

5

5√2

4

5√2

, ,
3

5√2

−5

5√2

4

5√2

, ,
3

5√2

5

5√2

4

5√2

https://dl.doubtnut.com/l/_97VTR3NG16Pe
https://dl.doubtnut.com/l/_MKSXJFyhNree


Answer: A

Watch Video Solution

28. A symmetrical form of the line of intersection of the planes

 and  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x = ay + b z = cy + d

= =
x − b

a

y − 1

0
z − d

c

= =
x − b

a

y − 0

1
z − d

c

= =
x − a

b

y − 0

1

z − c

d

29. The angle between the lines 

 
→
r = ( î + ĵ + k̂) + λ( î + ĵ + 2k̂)

https://dl.doubtnut.com/l/_MKSXJFyhNree
https://dl.doubtnut.com/l/_xbQmxTxUSPiD
https://dl.doubtnut.com/l/_yhcRDfoBEtpj


and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

→
r = ( î + ĵ + k̂) + μ{( − √3 − 1) î + (√3 − 1) ĵ + 4k̂}

π

6

π

4

π

3

2π

3

30. Find the angle between the lines

A. 

B. 

C. 

D. 

= = z = 2and = = .
x − 2

3

y + 1

−2

x − 1

1

2y + 3

3

z + 5

2

π

6

π

4

π

2

π

3

https://dl.doubtnut.com/l/_yhcRDfoBEtpj
https://dl.doubtnut.com/l/_qdAFVczum37J


Answer: C

Watch Video Solution

31. Prove that the line

 are

perpendicular if 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = ay + b, z = cy + d and x = a' y + b' , z = dy + d'

aa' + ' + 1 = 0

aa' + ' = 1

aa' + cc' = − 1

ab + cd = a' b' + c' d'

aa' + bb' = cc' + dd'

https://dl.doubtnut.com/l/_qdAFVczum37J
https://dl.doubtnut.com/l/_k8GRn8bbhQgE


32. If the lines  and 

 are perpendicular then 

A. 3

B. 2

C. -3

D. 1

Answer: A

Watch Video Solution

6x − 2 = 3y + 1 = 2z − 2

= , z = − 2
x − 2

λ

2y − 5

−3
λ =

33. The lines  and  are

A. coincident

B. skew

C. intersecting

= =
x

1

y

2

z

3
= =

x − 1

−2

y − 2

−4

z − 3

−6

https://dl.doubtnut.com/l/_Vzp1YJqJqQhj
https://dl.doubtnut.com/l/_q4HOeCzkNf1x


D. parallel

Answer: D

Watch Video Solution

34. The angle between the lines

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x = 3y = − z and 6x = − y = − 4z

0∘

30∘

45∘

90∘

https://dl.doubtnut.com/l/_q4HOeCzkNf1x
https://dl.doubtnut.com/l/_f70NXPzVlRZ8


35. The directionratios of the line which is perpendicular to the lines

 are (A) (4,5,7)

(B) (4,-5,7) (C) (4,-5,-7) (D) (-4,5,7)

A. 4,5,7

B. 4,-5,7

C. 4,-5,7

D. 

Answer: A

Watch Video Solution

= = z − 6 and x + 5 = =
x − 7

2

y + 17

−3

y + 3

2
z − 4
−2

−4, 5, 7

36. The lines  and 


` are perpendicular 


then p is equal to

A. 

→
r = 2 î − 3ĵ + 7k + λ(2 î + pĵ + 5k̂)

→
r = ( î + 2ĵ + 3k̂) + μ(3 î + pĵ + pk̂)

−6, − 1

https://dl.doubtnut.com/l/_AkBzwn23zbUi
https://dl.doubtnut.com/l/_oNUso8wChARo


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

−1, 6

2, 3

37. The plane  passes through the intersection

of the plane

A.  and 

B.  and 

C.  and 

D. none of these

Answer: A

Watch Video Solution

2x − (1 + λ)y + 3λz = 0

2x − y = 0 y − 3z = 0

2x + 3z = 0 y = 0

2x − y + 3z = 0 y − 3z = 0

https://dl.doubtnut.com/l/_oNUso8wChARo
https://dl.doubtnut.com/l/_TUzy7DObcbgE


38. Find the equation of a plane passing through the intersection of the

planes  and  and passes

through the point .

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

→
r . ( î + 3ĵ − k̂) = 5

→
r . (2 î − ĵ + k̂) = 3

(2, 1, − 2)

→
r . (3 î + 2ĵ) = 8

→
r . (2 î + 3ĵ) = 8

→
r . (3 î + 2ĵ) + 8 = 0

39. Find the equation of a plane containing the line of intersection
of the

planes 
 passing through 


.

x + y + z − 6 = 0and2x + 3y + 4z + 5 = 0

(1, 1, 1)

https://dl.doubtnut.com/l/_TUzy7DObcbgE
https://dl.doubtnut.com/l/_7p07vSNJYzgT
https://dl.doubtnut.com/l/_J3LhOsvWwAkt


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

20x + 23y + 26z − 69 = 0

20x + 26y + 23z − 69 = 0

x + y + z − 3 = 0

2x + 3y + 4z − 9 = 0

40. Find the equation of the plane
 which is perpendicular to the plane


and which contains the line of intersection
of the

planes 

A. 

B. 

C. 

D. 

5x + 3y + 6 z + 8 = 0

x + 2y + 3z −  4  =  0 and 2x + y  −  z + 5  =  0

15x + 15y − 20z + 4 = 0

51x + 15y − 50z + 173 = 0

3x − 5y + 7 = 0

3x + 5y − 5z + 9 = 0

https://dl.doubtnut.com/l/_J3LhOsvWwAkt
https://dl.doubtnut.com/l/_32LG2EUTbLwU


Answer: B

Watch Video Solution

41. Find the equation of the plane through the line of intersection of

 and 


 and perpendicular to vecr cdot(2hati -hatj+

hatk)+8= 0`

A. 47

B. -47

C. 37

D. -37

Answer: A

Watch Video Solution

→
r ⋅ (2 î − 3ĵ − 4k̂) = 6

→
r ⋅ ( î − ĵ) + 4 = 0

https://dl.doubtnut.com/l/_32LG2EUTbLwU
https://dl.doubtnut.com/l/_0owddjh3RorI


42. The
 equation of the plane containing the line


 , and parallel to the plane, 


, is :
(1) 
(2) 
 (3) 


(4) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x − 5y + z = 3; x + y + 4z = 5

x + 3y + 6z = 1 2x + 6y + 12z = 13 x + 3y + 6z = − 7

x + 3y + 6z = 7 2x + 6y + 12z = − 13

x + 3y + 6z = 7

2x + 6y + 12z = − 13

2x + 6y + 12z = 13

x + 3y + 6z = 7

43. Distance between
 two parallel planes 
 and 


is
(1) 
(2) 
(3) 
(4) 

A. 

2x + y + 2z = 8

4x + 2y + 4z + 5 = 0
5

2
7
2

9

2

3

2

3

2

https://dl.doubtnut.com/l/_1XrcFI77pB9R
https://dl.doubtnut.com/l/_2TPJVolsHmeu


B. 

C. 

D. 

Answer: C

Watch Video Solution

5

2

7
2

9

2

44. The equation of a plane passing through the line of intersection of

the planes x+2y+3z = 2 and x - y + z = 3 and at a distance  from the

point (3, 1, -1) is

A. 

B. 

C. 

D. 

Answer: A

2

√3

5x − 11y + z = 17

√2x + y = 3√2 − 1

x + y + z = √3

x − √2y = 1 − √2

https://dl.doubtnut.com/l/_2TPJVolsHmeu
https://dl.doubtnut.com/l/_NtNlLitrC36C


Watch Video Solution

45. In , consider the planes  and  Let  be a

plane, different from  and  which passes through the intersection of 

 and , If the distance of the point (0,1,0) from  is 1 and the distance

of a point  from  is 2, then which of the following relation(s)

is/are true?
 (a)  (b)  (c) 

 (d) 

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

R3 P1 : y = 0 P2, x + z = 1. P3

P1 P2

P1 P2 P3

(α, β, γ) P3

2α + β + 2γ + 2 = 0 2α − β + 2γ + 4 = 0

2α + β − 2γ − 10 = 0 2α − β + 2γ − 8 = 0

2α + β + 2γ + 2 = 0

2α − β + 2γ + 4 = 0

2α + β − 2γ − 10 = 0

2α − β + 2γ − 8 = 8

https://dl.doubtnut.com/l/_NtNlLitrC36C
https://dl.doubtnut.com/l/_c1DjCCDIhbor


46. Find the distance of the point 
 from the plane 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(21, 0)

2x + y + 2z + 5 = 0.

10

3

5

3

10

9

47. Find the Cartesian as well as vector equations of the planes through

the intersection of the planes


 which are at a unit

distance from the origin.

A. 

→ r
.

2 î + 6ĵ + 12 = 0 and  → r

.

3 î − ĵ + 4k̂ = 0

→
r . (2 î + ĵ + 2k̂) + 3 = 0

https://dl.doubtnut.com/l/_GqXsnBIdoydu
https://dl.doubtnut.com/l/_LSk8wvtyMsSD


B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r . ( î − 2ĵ + 2k̂) + 3 = 0

→
r . ( î − 2ĵ − 2k̂) + 3 = 0

→
r . (2 î + ĵ + 2k̂) − 3 = 0

48. A variable plane is at a distance  from the origin  and meets the set

of rectangular axes  at points 

respectively. If planes are drawn through  which are parallel to

the coordinate planes, then the locus of theri point of intersection is

A. 

B. 

C. 

D. 

p O

OXi(i = 1, 2, 3) Ai(i = 1, 2, 3)

A1, A2, A3

x2 + y2 + z2 = p2

+ + =
1

x

1

y

1

z

1

p

+ + =
1

x2

1

y2

1

z2

1

p2

+ + =
1

x3

1

y3

1

z3

1

p3

https://dl.doubtnut.com/l/_LSk8wvtyMsSD
https://dl.doubtnut.com/l/_mPMXvRp1rKtq


Answer: C

Watch Video Solution

49. The distance of the point  from the plane passing through

the point  having normal perpendicular to both the lines 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 3, − 7)

(1, − 1, − 1)

= = and = =
x − 1

1

y + 2

−2
z − 4

3

x − 2

2

y + 1

−1
z + 7
−1

20

√74
10

√83

10

√74
5

√83

https://dl.doubtnut.com/l/_mPMXvRp1rKtq
https://dl.doubtnut.com/l/_iMHrOpNFOI0t


50. Find the distance between the parallel planes

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

2x − y + 2z + 3 = 0and4x − 2y + 4z + 5 = 0.

1/3

2/6

2/3

51. Find the distance between the parallel planes 

 and 


.

A. 

B. 

→
r . (2 î − 3ĵ + 6k̂) = 5

→
r . (6 î − 9ĵ + 18k̂) + 20 = 0

2

3

5

3

https://dl.doubtnut.com/l/_8erbEZ7zLPBG
https://dl.doubtnut.com/l/_ptOtqqS1S6fQ


C. 

D. 

Answer: B

Watch Video Solution

4
3

1

3

52. If  denote the distances of the plane  from

the planes   and 

 respectively, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

d1, d2, d3 2x − 3y + 4z = 0

2x − 3y + 4z + 6 = 0 4x − 6y + 8z + 3 = 0

2x − 3y + 4z − 6 = 0

d1 + 8d2 + d3 = 0

d1 + 16d2 = 0

8d2 = d1

d1 − 2d2 + 3d3 = √29

https://dl.doubtnut.com/l/_ptOtqqS1S6fQ
https://dl.doubtnut.com/l/_g1BOWaGhwHZ5


53. The distance of the point  from the plane passing through

the point  perpendicular to the planes 

 is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, − 2, 4)

(1, 2, 2) and

x − y + 2z = 3 and 2x − 2y + z + 12 = 0,

1

√2

2

√2

2√2

54. Find the length of the perpendicular from the
 point 
 to the

line 

A. 5 units

(1, 2, 3)

= = .
x − 6

3

y − 7

2
z − 7
−2

https://dl.doubtnut.com/l/_g1BOWaGhwHZ5
https://dl.doubtnut.com/l/_xfeOI94QUwjw
https://dl.doubtnut.com/l/_FTktAV8BXV2j


B. 7 units

C. 4 units

D. none of these

Answer: B

Watch Video Solution

55. The position vector of the foot of the perpendicular draw from the

point  to the line 


 is

A. 

B. 

C. 

D. 

Answer: D

2 î − ĵ + 5k̂

→
r = (11 î − 2ĵ − 8k̂) + λ(10 î − 4ĵ − 11k̂)

î + 3ĵ + 2k̂

− î + 3ĵ − 2k̂

î − 3ĵ − 2k̂

î + 2ĵ + 3k̂

https://dl.doubtnut.com/l/_FTktAV8BXV2j
https://dl.doubtnut.com/l/_MHIZks4yksS5


Watch Video Solution

56. Find the image of the point 
 in the plane 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 3, 4)

2x − y + z + 3 = 0.

(3, 5, 2)

( − 3, 5, 2)

(3, 5, − 2)

(3, − 5, 2)

57. For all , which one of the following points is the

reflection of the point  in the plane pasing through the points 

 and ?

d, 0 < d < 1

(d, 2d, 3d)

(1, 0, 0), (0, 1, 0 (0, 0, 1)

https://dl.doubtnut.com/l/_MHIZks4yksS5
https://dl.doubtnut.com/l/_whw57zPTkzD0
https://dl.doubtnut.com/l/_yRzXdcqfgxYD


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 3d, − 2d, − d)
2

3

2

3

2

3

( − + 3d, 2d, + e)
1

3

1

3

(3d, 2d, d)

( + d, − 2d, − + d)
1

3

2

3

1

3

58. Find the image of the point  in the line 

A. (1,1,7)

B. (0,1,7)

C. (1,0,7)

D. none of these

Answer: C

Watch Video Solution

(1, 6, 3) = =
x

1

y − 1

2

z − 2

3

https://dl.doubtnut.com/l/_yRzXdcqfgxYD
https://dl.doubtnut.com/l/_DBeXaUm8bLsf


59. If the image of the point 
 in the plane, 


measured parallel to the line, 
is 

, then 
is equal to :
 
(2) 
(3) 
(4) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P (1, − 2, 3)

2x + 3y − 4z + 22 = 0 = =
x

1

y

4
z

5
Q

PQ √42 6√5 3√5 3√42

√42

6√5

3√5

2√42

60. The foot of the perpendicular from the point (1,2,3) on the line

 has the coordinates

A. (5,8,15)

→
r = (6 î + 7ĵ + 7k̂) + λ(3 î + 2ĵ − 2k̂)

https://dl.doubtnut.com/l/_DBeXaUm8bLsf
https://dl.doubtnut.com/l/_NYCycmxUMALz
https://dl.doubtnut.com/l/_TB9r3KzAgMjr


B. (8,5,15)

C. (3,5,9)

D. (3,5,-9)

Answer: C

Watch Video Solution

61. about to only mathematics

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

6

6

√5

3

√5

2

√5

https://dl.doubtnut.com/l/_TB9r3KzAgMjr
https://dl.doubtnut.com/l/_U7nau6HUqQXJ
https://dl.doubtnut.com/l/_x0dLusIy1kSK


62. The shortest distance between the lines

 lies in the interval

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= = and = =
x

2

y

2
z

1

x + 2

−2

y − 4

8

z − 5

4

(2, 3]

[0, 1)

(3, 4]

[1, 2)

63. Find the angle between the line 

and the plane .

A. 

B. 

C. 

→
r = î + 2ĵ − k̂ + λ( î − ĵ + k̂)

→
r ⋅ (2 î − ĵ + k̂) = 4

1

2√2

2√2

3

1

3

https://dl.doubtnut.com/l/_x0dLusIy1kSK
https://dl.doubtnut.com/l/_05rYwiKhrUr5


D. none of these

Answer: C

Watch Video Solution

64. Find the value of  such that the line  is 

 to normal to the plane .

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

λ = =
x − 1

2

y − 1

3

z − 1

λ

⊥
→
r . (2

→
i + 3

→
j + 4

→
k ) = 0

−
13

4

−
17
4

4

https://dl.doubtnut.com/l/_05rYwiKhrUr5
https://dl.doubtnut.com/l/_nTHoBrofK8hV


65. The distance of the plane through (1,1,1) and perpendicular to the line

 from the origin is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

= =
x − 1

3

y − 1

0

z − 1

4

3

4

4
3

7
5

1

66. The equation of the plane through the line

 and parallel to the line 

 is

A. 

B. 

x + y + z + 3 = 0 = 2x − y + 3z + 1

= =
x

1

y

2
z

3

x − 5y + 3z = 7

x − 5y + 3z = − 7

https://dl.doubtnut.com/l/_p8x0EsNHnYqx
https://dl.doubtnut.com/l/_UdNRR1Nf1vuA


C. 

D. 

Answer: A

Watch Video Solution

x + 5y + z = 7

x + 5y + 3z = − 7

67. Find the vector equation of the plane in which the lines

 and 

lie.

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

→
r = î + ĵ + λ( î + 2ĵ − k̂)

→
r = ( î + ĵ) + μ( − î + ĵ − 2k̂)

→
r . ( î + ĵ + k̂) = 0

→
r . ( − î + ĵ + k̂) = 0

→
r . ( − î + ĵ + k̂) = 1

→
r . ( î + k̂ − k̂) = 0

https://dl.doubtnut.com/l/_UdNRR1Nf1vuA
https://dl.doubtnut.com/l/_OdA8vXVHmPFU


68. If the line,  lies in the plane, 

, then  is equal to

A. 26

B. 18

C. 5

D. 2

Answer: D

Watch Video Solution

= =
x − 3

2

y + 2

−1
z + 4

3

lx + my − n = 9 l2 + m2

69. Find ten equation of the plane passing through the point 

and containing the line 
.

A. 

B. 

(0, 7, − 7)

= =
x + 1

−3

y − 3

2

z + 2

1

x + y + z = 0

x − y − z = 0

https://dl.doubtnut.com/l/_OdA8vXVHmPFU
https://dl.doubtnut.com/l/_z2mY0nrTc0ZW
https://dl.doubtnut.com/l/_BeTncK2NVUDr


C. 

D. 

Answer: A

Watch Video Solution

3x + y + z = 0

x − y − z + 14 = 0

70. The vector equation of the plane containing he line

 and the point 

is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

→
r = ( − 2 î − 3ĵ + 4k̂) + λ(3 î − 2ĵ − k̂) î + 2ĵ + 3k̂

→
r . ( î + 3k̂) = 10

→
r . ( î − 3k̂) = 10

→
r . (3 î + k̂) = 10

https://dl.doubtnut.com/l/_BeTncK2NVUDr
https://dl.doubtnut.com/l/_uij95fQqZV9t


71. The equation  represents a

A. plane containing z-axis

B. plane containing x-axis

C. plane containing y-axis

D. line with direction numbers 0,3,4

Answer: B

Watch Video Solution

3y + 4z = 0

72. Let P be the image of the point (3,1,7) with respect to the plane x-

y+z=3. then the equation o the plane passing through P and containing

the straight line 

A. 

B. 

= =
x

1

y

2
z

1

x + y − 3z = 0

3x + z = 0

https://dl.doubtnut.com/l/_uij95fQqZV9t
https://dl.doubtnut.com/l/_OpkIRiwCpffY
https://dl.doubtnut.com/l/_rSM8vs7nWXwK


C. 

D. 

Answer: C

Watch Video Solution

x − 4y + 7z = 0

2x − y = 0

73. The equation of the plane containing the lines

 and , is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

→
r = ( î + ĵ − k̂) + λ(3 î − ĵ)

→
r = (4 î − k̂) + μ(2 î + 3k̂)

→
r . (3 î + 9ĵ − 2k̂) + 14 = 0

→
r . (3 î + 9ĵ + 2k̂) = 14

→
r . (3 î + 9ĵ − 2k̂) = 14

https://dl.doubtnut.com/l/_rSM8vs7nWXwK
https://dl.doubtnut.com/l/_nQaLXL8WivrF
https://dl.doubtnut.com/l/_wBgLy8z3Pne1


74. Prove that the lines


 are coplanar .

Aslo, find the plane containing these two lines.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

= = and = =
x + 1

3

y + 3

5

z + 5

7

x − 2

1

y − 4

4

z − 6

7

x − 2y + z = 0

x + 2y − z = 0

x − 2y + z = 1

75. The equation of the plane containing the two lines 

 and  is

A. 

B. 

= =
x − 1

2

y + 1

−1
z

3
= =

x

−1

y − 2

3

z + 1

−1

8x + y − 5x − 7 = 0

8x + y + 5z − 7 = 0

https://dl.doubtnut.com/l/_wBgLy8z3Pne1
https://dl.doubtnut.com/l/_UcJErgu68KnJ


C. 

D. none of these

Answer: D

Watch Video Solution

8x − y − 5z − 7 = 0

76. If the lines

 are

coplanar, then k can have

A. any value

B. exactly one value

C. exactly two values

D. exactly three values

Answer: C

Watch Video Solution

= = and = =
x − 2

1

y − 3

1
z − 4

k

x − 1

k

y − 4

2

z − 5

1

https://dl.doubtnut.com/l/_UcJErgu68KnJ
https://dl.doubtnut.com/l/_K3XzRGeVXPCN


77. If the lines  and 

intersect each other, then  lies in the interval

A. (9,11)

B. (-5,-3)

C. (13,15)

D. (11,13)

Answer: D

Watch Video Solution

= =
x − 4

1

y − 2

1

z − λ

3
= =

x

1

y + 2

2
z

4

λ

78. Two lines  and 

are coplanar. Then 
can take value (s)
a. 
b. 
c. 
d. 

A. 1,4,5

B. 1,2,5

L1 : x = 5, =
y

3 − α

z

−2
L2 : x = α, =

y

−1
z

2 − α

α 1 2 3 4

https://dl.doubtnut.com/l/_K3XzRGeVXPCN
https://dl.doubtnut.com/l/_vg16lNRISu7P
https://dl.doubtnut.com/l/_45TDgkRZfbH5


C. 3,4,5

D. 2,4,5

Answer: A

Watch Video Solution

79. The number of distinct real values of  for which the lines

 are coplanar is :

A. 3

B. 2

C. 1

D. 4

Answer: A

Watch Video Solution

λ

= = and =
x − 1

1

y − 2

2

z + 3

λ2

x − 3

1

z − 1

2

https://dl.doubtnut.com/l/_45TDgkRZfbH5
https://dl.doubtnut.com/l/_MgjbBbOlKBPu


Section I - Solved Mcqs

1. The locus of a point  which moves in such a way that 

(constant), is a

A. a. line parallel to z-axis

B. b. plane parallel to xy-plane

C. c.line parallel to y-axis

D. d.line parallel to x-axis

Answer: B

Watch Video Solution

P (x, y, z) z = c

2. The locus of a point  which moves in such away that 

and  is a

A. plane parallel to xy-plane

P (x, y, z) x = a

y = b

https://dl.doubtnut.com/l/_J4xeXycNiMWY
https://dl.doubtnut.com/l/_ddMQZw106KwC


B. line parallel to x-axis

C. line parallel to y-axis

D. line parallel to z-axis

Answer: D

Watch Video Solution

3. In a three-dimensional xyz space, the equation 

represents

A. two points

B. two parallel planes

C. two parallel lines

D. a pair of non -parallel lines

Answer: B

Watch Video Solution

x2 − 5x + 6 = 0

https://dl.doubtnut.com/l/_ddMQZw106KwC
https://dl.doubtnut.com/l/_X9In8uX0duLU


4. If the equation of a plane is  which is in the normal

form, then which one of the following is not true?

A. l,m and n are the direction cosines of the normal to the plane

B.  is the length of the perpendicular from the origin to the plane

C. the plane passes through theorigin for all values of 

D. 

Answer: C

Watch Video Solution

lx + my + nz = p

p

l2 + m2 + n2 = 1

5. The equation  represents a plane perpendicular to the

A. xy-plane

B. yz-plane

C. zx-plane

ax + by + c = 0

https://dl.doubtnut.com/l/_X9In8uX0duLU
https://dl.doubtnut.com/l/_I7zyUwZJto8O
https://dl.doubtnut.com/l/_zrjI9BZVXh9k


D. none of these

Answer: A

Watch Video Solution

6. The plane  passes through the intersection

of the plane

A.  and 

B.  and 

C.  and 

D. none of these

Answer: B

Watch Video Solution

2x − (1 + λ)y + 3λz = 0

2x − y = 0 y + 3z = 0

2x − y = 0 y − 3z = 0

2x + 3yz = 0 y = 0

https://dl.doubtnut.com/l/_zrjI9BZVXh9k
https://dl.doubtnut.com/l/_gyY3fuBa3nBr


7. If a plane meets the coordinates axes at A, Band C, in such a way that

the centroid of  is at the point , the equation of the plane

is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

ΔABC (1, 2, 3)

+ + = 1
x

1

y

2
z

3

+ + = 1
x

3

y

6
z

9

+ + =
x

1

y

2
z

3

1

3

8. The equation  represents

A. a pair of straight lines

B. a pair of planes

C. a shere

12x2 − 2y2 − 6z2 − 2xy − 8xy + 6xz = 0

https://dl.doubtnut.com/l/_6YRbbQI1jvE9
https://dl.doubtnut.com/l/_oEBwHXonhylY


D. a pair of planes not passing through the origin.

Answer: B

Watch Video Solution

9. Find the image of the point 
in the plane 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 3, 4) 2x − y + z + 3 = 0.

(3, 5, − 2)

( − 3, 5, 2)

(3, − 5, 2)

(3, 5, 2)

https://dl.doubtnut.com/l/_oEBwHXonhylY
https://dl.doubtnut.com/l/_p8Rb4qERZsOL


10. The line 
 intersects the curve 


if 
is equal to
a. 
b. 
c. 
d. none of these

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

= =
x − 2

3

y + 1

2

z − 1

−1

xy = c2, z = 0 c ±1 ±
1

3
±√5

±1

±1/3

±√5

11. A non-zero vectors a is parallel to the line of intersection of the plane

determined by the vectors  the plane determined by the

vectors . Find the angle between a and .

A. 

B. 

î, î + ĵ and

î − ĵ and î + k̂ î − 2ĵ + 2k̂

π/3

π/4

https://dl.doubtnut.com/l/_TVh1dVyFsTXa
https://dl.doubtnut.com/l/_EDNQYTFqlGG0


C. 

D. none of these

Answer: B

Watch Video Solution

π/6

12. The perpendicular distance between the line

 and the plane 

 is :

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

→
r = 2 î − 2ĵ + 3k̂ + λ( î − ĵ + 4k̂)

→
r . ( î + 5ĵ + k̂) = 5

10

9

10

3√3

10

3

https://dl.doubtnut.com/l/_EDNQYTFqlGG0
https://dl.doubtnut.com/l/_nk4BtY8SZPyo


13. Equations of the line passing through  and perpendicular
 to

the plane  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 1, 1)

2x + 3y + z + 5 = 0

= =
x − 1

1

y − 1

2

z − 1

1

= =
x − 1

−1

y − 1

1

z − 1

−1

= =
x − 1

3

y − 1

2

z − 1

1

= =
x − 1

2

y − 1

3

z − 1

1

14. Find the line of intersection of the planes

A. 

B. 

→
r . (3 î − ĵ + k̂) = 1 and

→
r . ( î + 4ĵ − 2k̂) = 2

2 î + 7ĵ + 13k̂

−2 î − 7ĵ + 13k̂

https://dl.doubtnut.com/l/_nk4BtY8SZPyo
https://dl.doubtnut.com/l/_zVu3KDdg0R0t
https://dl.doubtnut.com/l/_Ov9mfDdp4uUC


C. 

D. 

Answer: D

Watch Video Solution

2 î + 7ĵ + 13k̂

−2 î + 7ĵ + 13k̂

15. Given the line  and the plane 

 of the following assertions, the only one that is

always true is ,

A.  is  to II

B.  lies in II

C.  is parallel to II

D. none of these

Answer: B

Watch Video Solution

L : = =
x − 1

3

y + 1

2

z + 3

1

π : x − 2y + z = 0,

L ⊥

L

L

https://dl.doubtnut.com/l/_Ov9mfDdp4uUC
https://dl.doubtnut.com/l/_47CBaXdaD1ai


16. The equation of the plane containing the line

 and origin is :

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

→
r = î + ĵ + λ(2 î + ĵ + 4k̂)

→
r . ( − î − 2ĵ + k̂) = 3

→
r . ( î + 2ĵ − k̂) = 0

→
r . ( î + 2ĵ − k̂) = 3

17. The ratio in which the plane  divides the

line joining the points  is

A. 

B. 

→
r . (

→
i − 2

→
j + 3

→
k ) = 17

−2
→
i + 4

→
j + 7

→
k and

→
3 i − 5

→
j + 8

→
k

3: 5

1: 10

https://dl.doubtnut.com/l/_47CBaXdaD1ai
https://dl.doubtnut.com/l/_nv66r5djoUwd
https://dl.doubtnut.com/l/_IDNd3BBIG8jT


C. 

D. 

Answer: C

Watch Video Solution

3: 10

1: 5

18. The sine of the angle between the line  and

the plane  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x − 2

3

y − 3

4
z − 4

5

2x − 2y + z = 5

10

6√5

4

5√2
√2

10

2√3

5

https://dl.doubtnut.com/l/_IDNd3BBIG8jT
https://dl.doubtnut.com/l/_PB5b0uZWtutS
https://dl.doubtnut.com/l/_qxDyjscD9Vi0


19. If the plane 
cuts the axes of coordinates at points, 

 and , then find the area of the triangle .
a.  sq unit
b. 

sq unit
c.  sq unit
d.  sq unit

A.  sq. units

B.  sq. units

C.  sq. units

D. none of these

Answer: C

Watch Video Solution

+ + = 1
x

2

y

3
z

6

A, B, C ABC 18 36

3√14 2√14

√29

√41

√61

20. Let the pairs  each determine a plane. Then the

planes are parallel if

A. 

B. 

→
a ,

→
b and

→
c

→
d

(
→
a ×

→
c ) × (

→
b ×

→
d ) =

→
0

(
→
a ×

→
c ). (

→
b ×

→
d ) =

→
0

https://dl.doubtnut.com/l/_qxDyjscD9Vi0
https://dl.doubtnut.com/l/_qEwOzOQo1LaY


C. 

D. 

Answer: C

Watch Video Solution

(
→
a ×

→
b ) × (

→
c ×

→
d ) =

→
0

(
→
a ×

→
b ). (

→
c ×

→
d ) = 0

21. The equation of the plane containing the lines

 is :

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

→
r =

→
a 1 + λ

→
b and =

→
a 2 + μb̂

[→
r

→
a

→
b ] = 0

[→
r

→
a

→
b ] =

→
a .

→
b

[→
a

→
b

→
a ] =

→
a .

→
b

https://dl.doubtnut.com/l/_qEwOzOQo1LaY
https://dl.doubtnut.com/l/_2pTlmuQH9BP8
https://dl.doubtnut.com/l/_NdjLfuszETSs


22. The points  and 

 are coplanar, then locus of  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

A(2 − x, 2, 2), B(2, 2 − y, 2), C(2, 2, 2 − z)

D(1, 1, 1) P (x, y, z)

+ + = 1
1

x

1

y

1

z

x + y + z = 1

+ + = 1
1

1 − x

1

1 − y

1

1 − z

23. Find the vector equation of the plane in which the lines

 and 

lie.

A. 

B. 

→
r = î + ĵ + λ( î + 2ĵ − k̂)

→
r = ( î + ĵ) + μ( − î + ĵ − 2k̂)

→
r . (2 î + ĵ − 3k̂) = − 4

→
r × ( − î + ĵ + k̂) =

→
0

https://dl.doubtnut.com/l/_NdjLfuszETSs
https://dl.doubtnut.com/l/_uhdDFP8kJCZe


C. 

D. none of these

Answer: C

Watch Video Solution

→
r . ( − î + ĵ + k̂) = 0

24. The equation of the plane which contains the origin and the line of

intersectio of the plane  and  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

→
r .

→
a = d1

→
r .

→
b = d2

→
r . (d1

→
a − d2

→
b ) = 0

→
r . (d1

→
a + d2

→
b ) = 0

→
r . (d2

→
a + d1

→
b ) = 0

→
r . (d2

→
a − d2

→
b ) = 0

https://dl.doubtnut.com/l/_uhdDFP8kJCZe
https://dl.doubtnut.com/l/_wRz0zPn0miVc
https://dl.doubtnut.com/l/_bokxA9zmJgw2


25. The length of the perpendicular from the origin to the plane passing

through the point  and containing the line 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

→
a

→
r =

→
b + λ

→
c

[→
a

→
b

→
c ]

∣
∣
∣
→
a ×

→
b +

→
b ×

→
c +

→
c ×

→
a

∣
∣
∣

[→
a

→
b

→
c ]

∣
∣
∣
→
a ×

→
b +

→
b ×

→
c

∣
∣
∣

[→
a

→
b

→
c ]

∣
∣
∣

→
b ×

→
c +

→
c ×

→
a

∣
∣
∣

[→
a

→
b

→
c ]

∣
∣
∣
→
a ×

→
b +

→
c ×

→
a

∣
∣
∣

26. Find the distance of the point  from the plane 

 measured parallel to the line .

A. 1

(1, − 2, 3)

x − y + z = 5 = =
x

2
y

3

z

−6

https://dl.doubtnut.com/l/_bokxA9zmJgw2
https://dl.doubtnut.com/l/_Xn0r5AqbWvCG


B. 2

C. 4

D. none of these

Answer: A

Watch Video Solution

27. The equation of the plane which bisects the line joining  and 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2, 3, 4)

(6, 7, 8)

x + y + z + 15 = 0

x − y − z − 15 = 0

x − y + z − 15 = 0

x + y + z − 15 = 0

https://dl.doubtnut.com/l/_Xn0r5AqbWvCG
https://dl.doubtnut.com/l/_cqcXR2kBeNI4


28. Distance of the point  from the line  is 


(a) 
 (b)




(c) 
(d)none of these

A. 

B. 

C. 

D. none of these

Answer: A

P(
→
p )

→
r =

→
a + λ

→
b

∣
∣
∣
∣
∣
∣

(
→
a −

→
p ) +

∣
∣

∣

∣

∣
∣

((
→
p −

→
a ).

→
b )

→
b

∣
∣
∣

→
b

∣
∣
∣

2

∣
∣
∣
∣
∣
∣

(
→
b −

→
p ) +

∣
∣

∣

∣

∣
∣

((
→
p −

→
a ).

→
b )

→
b

∣
∣
∣

→
b

∣
∣
∣

2

∣
∣
∣
∣
∣
∣

(
→
a −

→
p ) +

∣
∣

∣

∣

∣
∣

((
→
p −

→
b ).

→
b )

→
b

∣
∣
∣

→
b

∣
∣
∣

2

∣
∣
∣
(

→
c −

→
a ) ×

→
b

∣
∣
∣

∣
∣
∣

→
b

∣
∣
∣

∣
∣
∣
(

→
c −

→
a ).

→
b

∣
∣
∣

∣
∣
∣

→
b

∣
∣
∣

∣
∣
∣
(

→
c −

→
a ) ×

→
b

∣
∣
∣

∣
∣
∣

→
b

∣
∣
∣

2

https://dl.doubtnut.com/l/_cqcXR2kBeNI4
https://dl.doubtnut.com/l/_LDPP39haK6xI


Watch Video Solution

29. Distance of the point  from the line 

, where  are the direction cosines of

the line, is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

P (x2, y2, z2)

= =
x − x1

l

y − y1

m

z − z1

n
l, m, n

√l2(x2 − x1)2 + m2(y2 − y1)2 + n2(z2 − z2
1)

|l(x2 − x1) + m(y2 − y1) + n(z2 − z1)|

√(x2 − x1)2 + (y2 − y1)2 + (z2 − z1)2 − {l(x2 − x1) + m(y2 − y1 +

https://dl.doubtnut.com/l/_LDPP39haK6xI
https://dl.doubtnut.com/l/_bTZoEXTc69V2


30. If  and  are three non-coplanar vectors then the length of

projection of vector  in the plane of the vectors  and  may be given

by

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

→
a ,

→
b

→
c

→
a

→
b

→
c

∣
∣
∣
→
a . (

→
b ×

→
c )

∣
∣
∣

∣
∣
∣

→
b ×

→
c

∣
∣
∣

∣
∣
∣
∣
∣
∣

→
a × (

→
b ×

→
c )

∣
∣
∣

∣
∣
∣

→
b ×

→
c

∣
∣
∣

[→
a

→
b

→
c ]

→
b .

→
c

31. If  are two points, then the projection of PQ

on the plane  is

P (0, 1, 0) and Q(0, 01)

x + y + z = 3

https://dl.doubtnut.com/l/_ER9FzXaWK6L4
https://dl.doubtnut.com/l/_7oqYQGuLn6dg


A. 2

B. 3

C. 

D. 

Answer: C

Watch Video Solution

√2

√3

32. A plane passes through the point (1, 1, 1). If b, c, a are the direction

ratios of a normal to the plane where a, b, c  are the prime

factors of 2001, then the equation of the plane II is

A. 

B. 

C. 

D. 

(a < b < c)

29x + 31y + z = 63

23x + 29y − 29z = 23

23x + 29y + 3z = 55

31x + 37y + 3z = 71

https://dl.doubtnut.com/l/_7oqYQGuLn6dg
https://dl.doubtnut.com/l/_EsTWedPf2l2a


Answer: C

Watch Video Solution

33. If the foot of the perpendicular from  to a plane is 

. Then the equation of the plane is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

O(0, 0, 0) P (1, 2, 2)

−x + 2y + 8z − 9 = 0

x + 2y + 2z − 9 = 0

x + y + z − 5 = 0

x + 2y − 3z + 1 = 0

34. The equation of the plane through the point (1,2,3) and parallel to the

plane  isx + 2y + 5z = 0

https://dl.doubtnut.com/l/_EsTWedPf2l2a
https://dl.doubtnut.com/l/_Y3w5fwYyF0pb
https://dl.doubtnut.com/l/_bmjUWmqkEB5w


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

(x − 1) + 2(y − 2) + 5(z − 3) = 0

x + 2y + 5z = 14

x + 2y + 5z = 6

35. The straight line 
 is
 Parallel to x-axis

Parallel to the y-axis
Parallel to the z-axis
Perpendicular to the z-axis

A. parallel to x-axis

B. parallel to y-axis

C. parallel to z-axis

D. perpendicular to z-axis

Answer: A

= =
x − 3

3

y − 2

1

z − 1

0

https://dl.doubtnut.com/l/_bmjUWmqkEB5w
https://dl.doubtnut.com/l/_is1pOtogXAfF


Watch Video Solution

36. The direction ratios o f a normal to the plane through (1,0,0) and

(0,1,0), which makes an angle of  with the plane x+y=3, are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

4

1, √2, 1

1, 1, √2

1, 1, 2

√2, 1, 1

37. Find the equation of a plane which passes through the
point (3, 2, 0)

and contains the line 

A. 

= =
x − 3

1

y − 6

5
z − 4

4

x − y + z = 1

https://dl.doubtnut.com/l/_is1pOtogXAfF
https://dl.doubtnut.com/l/_ADhK7cKzJvY7
https://dl.doubtnut.com/l/_Ex2b4xljTxU4


B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y + z = 5

x + 2y − z = 1

2x − y + z = 5

38. If the lines 

intersect, then find the
value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= = and = =
x − 1

2

y + 1

3

z − 1

4

x − 3

1

y − k

2
z

1

k.

3

2

9

2

−
2

9

−
3

2

https://dl.doubtnut.com/l/_Ex2b4xljTxU4
https://dl.doubtnut.com/l/_QRMwZcbccgP2


39. The lines 

are coplanar if the values of k are

A.  or 

B.  or 

C.  or 

D.  or 

Answer: D

Watch Video Solution

= = and = =
x − 2

1

y − 3

1
z − 4

−k

x − 3

k

y − 4

1

z − 5

1

k = 3 −3

k = 0 −1

k = 1 −1

k = 0 −3

40. Two systems of rectangular axes have the same origin. If a plane cuts

them at distances 
 respectively, prove that


A. 

a, b, canda ′ , b ′ , c ′

+ + = + +
1

a2

1

b2

1

c2

1

a '2

1

b '2

1

c '2

+ + − − − = 0
1

a2

1

b2

1

c2

1

a '2

1

b '2

1

c '2

https://dl.doubtnut.com/l/_QRMwZcbccgP2
https://dl.doubtnut.com/l/_HkSdNUsCxaEz
https://dl.doubtnut.com/l/_TC4o7xygUO1r


B. 

C. 

D. 

Answer: A

Watch Video Solution

+ + + + + = 0
1

a2

1

b2

1

c2

1

a '2

1

b '2

1

c '2

+ − + + − = 0
1

a2

1

b2

1

c2

1

a '2

1

b '2

1

c '2

− − + − − = 0
1

a2

1

b2

1

c2

1

a '2

1

b '2

1

c '2

41. A tetrahedron has vertices O (0,0,0), A(1,2,1,), B(2,1,3) and C(-1,1,2), the

angle between faces OAB and ABC will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

90∘

cos − 1( )
19

35

cos − 1( )
17
31

30∘

https://dl.doubtnut.com/l/_TC4o7xygUO1r
https://dl.doubtnut.com/l/_lKcBcAd27MTU


42. The value of 
 such that 
 lies in the plane 


is
a. 7 b. -7 c. no real value d. 4

A. 

B. 

C. no real value

D. 4

Answer: A

Watch Video Solution

k = =
x − 4

1

y − 2

1

z − k

2

2x − 4y + z = 7

7

−7

43. Find the distance of the point  from the point of

intersection of the line  and plane 

.

A. 

( − 1, − 5, − 10)

= =
x − 2

3

y + 1

4

z − 2

12

x − y + z = 5

10

https://dl.doubtnut.com/l/_lKcBcAd27MTU
https://dl.doubtnut.com/l/_zCD7lgWUYNZM
https://dl.doubtnut.com/l/_NRzfeywYHUms


B. 

C. 

D. 

Answer: D

Watch Video Solution

8

21

13

44. The length of the perpendicular drawn from (1,2,3) to the line

 is

A. 4

B. 5

C. 6

D. 7

Answer: D

Watch Video Solution

= =
x − 6

3

y − 7

2
z − 7
−2

https://dl.doubtnut.com/l/_NRzfeywYHUms
https://dl.doubtnut.com/l/_r1CNIeysnWkY


45. Distance between
 two parallel planes 
 and 


is
(1) 
(2) 
(3) 
(4) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x + y + 2z = 8

4x + 2y + 4z + 5 = 0
5

2
7
2

9

2

3

2

9/2

5/2

7/2

3/2

46. A line with direction cosines proportional to 2,1,2 meet each of the

lines . The coordinastes of each of the

points of intersection are given by

A. 

x = y + a = zndx + a = 2y = 2z

(2a, 3a, a), (2a, a, a)

https://dl.doubtnut.com/l/_r1CNIeysnWkY
https://dl.doubtnut.com/l/_NxKhX5oynr3y
https://dl.doubtnut.com/l/_0zcSIUH0a5Ot


B. 

C. 

D. 

Answer: B

Watch Video Solution

(3a, 2a, 3a), (a, a, a)

(3a, 2a, 3a), (a, a, 2a)

(3a, 3a, 3a), (a, a, a)

47. If the straight lines

with paramerters 
respectivley, are coplanar,
then find 

A. 

B. 

C. 

D. 

Answer: D

x = − 1 + s, y = 3 − λs, z = 1 + λsandx = , y = 1 + t, z = 2 − t,
t

2

sandt, λ.

0

−1

−
1

2

−2

https://dl.doubtnut.com/l/_0zcSIUH0a5Ot
https://dl.doubtnut.com/l/_CMPAmwEF5beT


Watch Video Solution

48. If  and  are three non-coplanar vectors, then the vector

equation  represents a

A. straight line

B. plane

C. plane pasing through the origin

D. sphere

Answer: B

Watch Video Solution

→
a ,

→
b

→
c

→
r − (1 − p − q)

→
a + p

→
b + q

→
c

49. A plane II makes intercept 3 and 4 respectively on  and  axes. If II is

parallel to y-axis, then its equation is

A. 

x z

3x + 4y = 12

https://dl.doubtnut.com/l/_CMPAmwEF5beT
https://dl.doubtnut.com/l/_8EAnH4YaSPre
https://dl.doubtnut.com/l/_nAwrPqMAc9lq


B. 

C. 

D. 

Answer: B

Watch Video Solution

4x + 3z = 12

3y + 4z = 12

4y + 3y = 12

50. The equation of the plane through the intersection of the planes

 and  and parallel to x-axis is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y + z = 1 2x + 3y − z + 4 = 0

y − z + 6 = 0

3y − z + 6 = 0

y + 3z + 6 = 0

3y − 2z + 6 = 0

https://dl.doubtnut.com/l/_nAwrPqMAc9lq
https://dl.doubtnut.com/l/_rIOLzkVxy4Bh


51. Find the distance of the
 point 
 from the line 


 measured parallel to the
 plane 

A. 2

B. 3

C. 6

D. 7

Answer: D

Watch Video Solution

P (3, 8, 2)

(x − 1) = (y − 3) = (z − 2)
1

2

1

4

1

3

3x + 2y − 2z + 15 = 0.

52. If from a point 
 prpendiculars 
 are drawn to 


find the eqution of th plane 

A. 

P (a, b, c) PAandPB

yzandzx − planes, OAB.

bcx + cay + abz = 0

https://dl.doubtnut.com/l/_rIOLzkVxy4Bh
https://dl.doubtnut.com/l/_CJ2j0Kz5M4KN
https://dl.doubtnut.com/l/_y0GF1MnNpLSh


B. 

C. 

D. 

Answer: B

Watch Video Solution

bcx + cay − abz = 0

bcx − cay + abz = 0

−bcx + cay + abz = 0

53. A non-zero vectors a is parallel to the line of intersection of the plane

determined by the vectors  the plane determined by the

vectors . Find the angle between a and .

A. 

B. 

C. 

D. 

Answer: D

î, î + ĵ and

î − ĵ and î + k̂ î − 2ĵ + 2k̂

π

2

π

3

π

6

π

4

https://dl.doubtnut.com/l/_y0GF1MnNpLSh
https://dl.doubtnut.com/l/_RWreA7t74WSd


Watch Video Solution

54. If  denotes the md point of the line segment joining 

 and , then the equation, of the

plane through  and perpendicular to AB is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

M

A(4 î + 6ĵ − 10k̂) B( − î + 2ĵ + k̂)

M

→
r . ( − 5 î − 3ĵ + 11k̂) + = 0

135

2

→
r . ( î + ĵ − k̂) + = 0

3

2
7
2

9

2

135

2

→
r . (4 î + 5ĵ − 10k̂) + 4 = 0

→
r . ( − î + 2ĵ + k̂) + 4 = 0

55. The perpendicular distance between the line

 and the plane 

 is :

→
r = 2 î − 2ĵ + 3k̂ + λ( î − ĵ + 4k̂)

→
r . ( î + 5ĵ + k̂) = 5

https://dl.doubtnut.com/l/_RWreA7t74WSd
https://dl.doubtnut.com/l/_hhmOhlJCTY1g
https://dl.doubtnut.com/l/_97WuHPIwiFyK


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10

3

3

10

10

3√3

10

9

56. If angle 
bertween the line 
and the plane 


is such that 
the value of 
is 


a.  


b.  


c.  


d. 

A. 

B. 

θ = =
x + 1

1

y − 1

2

z − 2

2

2x − y + √λz + 4 = 0 sin θ = 1/3, λ

−
3

5
5

3

−
4
3

3

4

−4/3

3/4

https://dl.doubtnut.com/l/_97WuHPIwiFyK
https://dl.doubtnut.com/l/_rTOMz6GOq24h


C. 

D. 

Answer: D

Watch Video Solution

−3/5

5/3

57. the image of the point  in the plane 
 a.


b.(15,11,4)
c. 
d.

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

( − 1, 3, 4) x − 2y = 0

( − , , 4)
17
3

19

3
( − , , 1)

17
3

19

3
( , − , 4)

9

5

13

5

( − , − , 4)
17
3

19

3

(15, 11, 4)

( − , − , 1)
17
3

19

3

https://dl.doubtnut.com/l/_rTOMz6GOq24h
https://dl.doubtnut.com/l/_dT0QBCIIEimD
https://dl.doubtnut.com/l/_GLpvzJxU7Ul0


58. Let
 L be the line of intersection of the planes 
 and 


. If L makes an angles with
the positive x-axis, then cos


equals
 
 
1


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x + 3y + z = 1

x + 3y + 2z = 2 α

α
1

√3

1

2

1

√2

1

1

√2

1

√3

1

2

59. The line passing through the points  crosses the

YZ-plane at the point . Then,

A. 

B. 

(5, 1, a) and (3, b, 1)

(0, , − )
17
2

13

2

a = 6, b = 4

a = 8, b = 2

https://dl.doubtnut.com/l/_GLpvzJxU7Ul0
https://dl.doubtnut.com/l/_TIHoHIBVbgMO


C. 

D. 

Answer: A

Watch Video Solution

a = 2, b = 8

a = 4, b = 6

60. If the straight lines

 intersect at

a point, then the integer  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= = and = =
x − 1

k

y − 2

2

z − 3

3

x − 2

3

y − 3

k

z − 1

2

k

2

−2

−5

5

https://dl.doubtnut.com/l/_TIHoHIBVbgMO
https://dl.doubtnut.com/l/_j2Sn3f9wrda8


61. Let the line  lies in the plane 

. Then,  equals

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 2

3

y − 1

−5

z + 2

2

x + 3y − αz + β = 0 (α, β)

(6, − 17)

( − 6, 7)

(5, − 15)

( − 5, 5)

62. Read the following passage and answer the questions. Consider the

lines 

 


 


Q. The shortest distance between  is

L1 : = =
x + 1

3

y + 2

1
z + 1

2

L2 : = =
x − 2

1

y + 2

2

z − 3

3

L1 and L2

https://dl.doubtnut.com/l/_j2Sn3f9wrda8
https://dl.doubtnut.com/l/_NsnehGYpE7NU
https://dl.doubtnut.com/l/_PkBe3zTfEUwv


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − î + 7ĵ + 7k̂)
1

√99

( − î − 7ĵ + 5k̂)
1

5√5

( − î + 7ĵ + 5k̂)
1

5√3

(7 î − 7ĵ − k̂)
1

√99

63. Let 
 be a point in space and 
 be a point on line 


Then the value of 
for which

the vector 
is parallel to the plane 
is
a. 1/4 b. -1/4 c.

1/8 d. -1/8

A. 

B. 

C. 

D. 

P (3, 2, 6) Q

→
r = ( î − ĵ + 2k̂) + μ( − 3 î + ĵ + 5k̂). μ

→
P Q x − 4y + 3z = 1

1

4

−
1

4

1

8

−
1

8

https://dl.doubtnut.com/l/_PkBe3zTfEUwv
https://dl.doubtnut.com/l/_dcQrBlooweJx


Answer: A

Watch Video Solution

64. A plane which is perpendicular to two planes

 passes through . The

distance of the plane from the point (1, 2, 2) is

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

2x − 2y + z = 0 and x − y + 2z = 4 (1, − 2, 1)

√2

2√2

https://dl.doubtnut.com/l/_dcQrBlooweJx
https://dl.doubtnut.com/l/_IOpFUjWo6j9A


65. Let  be a vector parallel to the line of intersection of planes 

 . Plane  is parallel to vectors 

. Then

the angle between vector  a given vector  is

A.  or 

B.  or 

C.  or 

D.  or 

Answer: A

Watch Video Solution

→
A

P1 and P2 P1

2ĵ + 3k̂ and 4ĵ − 3k̂nadP2  is parallel to ĵ − k̂ and 3 î + 3ĵ

→
A and 2 î + ĵ − 2k̂

π

4

3π

4

π

2

3π

2

π

6

π

3

π

3

2π

3

66. If 

then gamma= (A) 1 (B) -1 (C) 2 (D) none of these

A. 0

α + β + γ = 2 and
→
a = αî + βĵ + γk̂, k̂ × (k̂ ×

→
a ) =

→
0

https://dl.doubtnut.com/l/_XxSIhSDUJ0D7
https://dl.doubtnut.com/l/_UyKn1C1ljumI


B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

67. A variable plane  at a unit distance from origin cuts

the coordinate axes at  Centroid  satisfies the

equation  The value of  is (A)  (B)  (C)  (D) 

A. 9

B. 3

C. 

D. 

Answer: A

+ + = 1
x

a

y

b

z

c

A, B and C. (x, y, z)

+ + = K.
1

x2

1

y2

1

z2
K 9 3

1

9

1

3

1/9

1/3

https://dl.doubtnut.com/l/_UyKn1C1ljumI
https://dl.doubtnut.com/l/_3FR5hx05W22t


Watch Video Solution

68. If the distance of the
 point 
 from the plane 


 then the foot of the perpendicular

from 
 to the plane is
 a. 
 b. 
 c. 


d. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P (1, − 2, 1)

x + 2y − 2z = α, whereα > 0, is5,

P ( , , − )
8

3
4
3

7
3

( , − , )
4
3

4
3

1

3

( , , )
1

3

2

3

10

3
( , − , − )

2

3

1

3

5

3

( , , )
8

3
4
3

−7
3

( , , )
4
3

−4
3

1

3

( , , )
1

3

2

3

10

3

( , − , )
2

3

1

3

5

2

69. Equation of the plane containing the straight line  and

perpendicular to the plane containing the straight lines

= =
x

2

y

3
z

4

https://dl.doubtnut.com/l/_3FR5hx05W22t
https://dl.doubtnut.com/l/_tLZxSwV0WCuB
https://dl.doubtnut.com/l/_2sHBLlkNZGD8


 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= = and = =
x

3

y

4
z

2
x

4

y

2
z

3

x + 2y − 2z = 0

3x + 2y − 2z = 0

x − 2y + z = 0

5x + 2y − 4z = 0

70. If the distance between the plane Ax 2y + z = d and the plane

containing the lines
2 1x
= 3 2y
= 4 3z
and 3 2x
= 4 3y
= 5 4z
is 6 , then |d| is

A. 

B. 4

C. 6

D. 1

3

https://dl.doubtnut.com/l/_2sHBLlkNZGD8
https://dl.doubtnut.com/l/_HYvMQsfTE7hk


Answer: C

Watch Video Solution

71. A line from the origin meets the lines  and 

 at  and  respectively. If length ,

then  is

A. 3

B. 4

C. 5

D. 6

Answer: D

Watch Video Solution

= =
x − 2

1

y − 1

−2

z + 1

1

= =
x − 8

3

2

y + 3

−1

z − 1

1
P Q PQ = d

d2

https://dl.doubtnut.com/l/_HYvMQsfTE7hk
https://dl.doubtnut.com/l/_lK44CQc5tMPP


72. The number of 
matrices 
whose entries are either 
and

for which the system 
has exactly two distinct solution is
a. 0

b. 
c. 
d. 

A. 0

B. 

C. 

D. 2

Answer: A

Watch Video Solution

3 × 3 A 0 or 1

A

∣
∣
∣
∣
∣

x

y

z

∣
∣

∣

∣
∣

=
∣
∣

∣
∣

1

0

0

∣
∣

∣
∣

29 − 1 168 2

29 − 1

168

73. If the angle between the line  and the plane 

, then  equals

A. 

x = = (z − 3)(λ)
y − 1

2

x + 2y + 3z = 4is cos − 1(√ )
5

14
λ

2

3

https://dl.doubtnut.com/l/_qHCFEe4hLzxF
https://dl.doubtnut.com/l/_oIYssJA6mLtL


B. 

C. 

D. 

Answer: A

Watch Video Solution

3

2

2

5

5

3

74. Let a,b and c be three real numbers satisfying 

[a b c ] =[ 0 0 0 ] ….(i) 


Let  be a solution of  with  . If a=2 with b and c

satisfying Eq.(i) then the value of  is :

A. 0

B. 12

C. 7

D. 6

∣
∣
∣
∣

1 9 7

8 2 7

7 3 7

∣
∣

∣
∣

ω x3 − 1 = 0 lim (ω) > 0

+ +
3

ω4

1

ωb

1

ωc

https://dl.doubtnut.com/l/_oIYssJA6mLtL
https://dl.doubtnut.com/l/_FXDBQxXCxBrH


Answer: D

Watch Video Solution

75. The distance of the point  from the plane 

measured along the line  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, − 5, 9) x − y + z = 5

x = y = z

5√3

3√10

3√5

10√3

76. Find the perpendicular distance of the point (3, -1, 11) from the line


.= =
x

y

y − 2

−3

z − 3

4

https://dl.doubtnut.com/l/_FXDBQxXCxBrH
https://dl.doubtnut.com/l/_u41V0HIhCE65
https://dl.doubtnut.com/l/_dWmAB75z1xYw


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√33

√53

√66

√29

77. about to only mathematics

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1/√2

√2

2

2√2

https://dl.doubtnut.com/l/_dWmAB75z1xYw
https://dl.doubtnut.com/l/_wupXs0q25RbO


78. If the straight lines

 are coplanar, then

the plane(s) containing these two lines is/are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= = and = =
x − 1

2

y + 1

k

z

2

x + 1

5

y + 1

2
z

k

y + 12z = − 1

y + 1z = − 1

y ± 2z = 1

y ± z = 1

79. If the three planes  and 

 contain a common line, then  is equal to

A. 

x = 5, 2x − 5ay + 3z − 2 = 0

3bx + y − 3z = 0 (a, b)

( − , )
1

5

8

15

https://dl.doubtnut.com/l/_wupXs0q25RbO
https://dl.doubtnut.com/l/_0PUINfcpracq
https://dl.doubtnut.com/l/_QAxufpaVMh9L


B. 

C. 

D. 

Answer: B

Watch Video Solution

( , − )
1

5

8

15

( − , )
8

15

1

5

( , − )
8

15

1

5

80. about to only mathematics

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= =
x

5

y − 1

8

z − 2

−13

=
x

2

y − 1

3

z − 2

−5

= =
x

4

y − 1

3

z − 2

−7

= =
x

2

y − 1

−7

z − 2

5

https://dl.doubtnut.com/l/_QAxufpaVMh9L
https://dl.doubtnut.com/l/_jJOCbFWijyyq
https://dl.doubtnut.com/l/_8NgHuG7ELOGs


81. about to only mathematics

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

( , , )
7
3

7
3

5

3
( − 1, − 1, 0)

( − 1, − 1, 0) (1, 1, 1)

( , , )
7
9

7
9

8

9
( , , )

7
3

7
3

5

3

(1, 1, 1) ( , , )
7
9

7
9

8

9

82. Consider the set of eight vectors .

Three non-coplanar vectors cann be chosen from V in  ways, then p is

A. 3

B. 5

C. 6

D. 4

V [aî + bĵ + ck̂ : a, b, c ∈ {1 − 1}]

2p

https://dl.doubtnut.com/l/_8NgHuG7ELOGs
https://dl.doubtnut.com/l/_yyHb7iuJCvVy


Answer: B

Watch Video Solution

83. The image of the line  in the plane 

 is the line

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x − 1

3

y − 3

1
z − 4
−5

2x − y + z + 3 = 0

= =
x − 3

3

y + 5

1

z − 2

−5

= =
x − 3

−3

y + 5

−1

z − 2

5

= =
x + 3

3

y − 5

1

z − 2

−5

= = =
x + 3

−3

y − 5

−3

y − 5

−1

z + 2

5

84. From a point , perpendicular PQ and PR are drawn

respectively on the lines . If P is

P (λ, λ, λ)

y = x, z = 1 and y = − x, z = − 1

https://dl.doubtnut.com/l/_yyHb7iuJCvVy
https://dl.doubtnut.com/l/_29Ycs1sdZ9W8
https://dl.doubtnut.com/l/_hIR3rXoVKiTS


such tthat  is a right angle , then the possible value(s) of  is (are)

A. 

B. 1

C. -1

D. 

Answer: C

Watch Video Solution

∠QPR λ

√2

−√2

85. let L be a straight line passing through the origin. Suppose that all

the points on L are at a constant distance from the two planes

 and , Let M be the locus

of the feet of the perpendiculars drawn from the points on L to the plane

. Which of the following points lie(s) on M?
 (a)  (b) 

 (c)  (d) 

A. 

P1 : x + 2y − z + 1 = 0 P2 : 2x − y + z − 1 = 0

P1 (0, − , − )
5

6

2

3

( − , − , )
1

6

1

3

1

6
( − , 0, )

5

6

1

6
( − , 0, )

1

3

2

3

(0, − , − )
5

6

2

3

https://dl.doubtnut.com/l/_hIR3rXoVKiTS
https://dl.doubtnut.com/l/_R30AYlgFoC1P


B. 

C. 

D. 

Answer: A::B

Watch Video Solution

( − , − , )
1

6

1

3

1

6

( − , 0, )
5

6

1

6

( − , 0, )
1

3

2

3

86. The distance between the line 

and the plane , is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x = 2 + t, y = 1 + t, z = − −
1

2
t

2
→
r . ( î + 2ĵ + 6k̂) = 10

1

6

1

√41
1

7

9

√41

https://dl.doubtnut.com/l/_R30AYlgFoC1P
https://dl.doubtnut.com/l/_qzPk9HRmlu7X


87. The shortest distance between the lines  


and the line  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = y = x

2x + y + z − 1 = 0 = 3x + y + 2z − 2

1

√2

√2

3

√2

√3

2

88. Consider a pyramid OPQRS located in the first octant

 with O as origin and OP and OR along the X-axis

and the Y-axis , respectively. The base OPQRS of the pyramid is a square

with OP=3. The point S is directly above the mid point T of diagonal OQ

such that TS=3. Then,

(x ≥ 0, y ≥ 0, z ≥ 0)

https://dl.doubtnut.com/l/_qzPk9HRmlu7X
https://dl.doubtnut.com/l/_izI1fFF4vJo8
https://dl.doubtnut.com/l/_JOz4LzVYIqMb


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x − y = 0

y − z = 0

z − x = 0

x − y − z = 0

89. From a point A with positon vector  and  are

drawn perpendicular to the lines  an 

, respectively. A value of  is equal to

A. 

B. 

C. 

D. all of these

p( î + ĵ + k̂), AB AC

→
r = k̂ + λ( î + ĵ)

→
r = − k̂ + μ( î − ĵ) p

−2

−1

√2

https://dl.doubtnut.com/l/_JOz4LzVYIqMb
https://dl.doubtnut.com/l/_BvMK8ezNDcI7


Section II - Assertion Reason Type

Answer: D

Watch Video Solution

1. Consider the planes 

Statement 1:The parametric
 equations of the line intersection of the

given planes are 
 Statement 2: The vector 


is parallel to the
line of intersection of the given planes.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

3x − 6y − 2z = 15 and 2x + y − 2z = 5.

x = 3 + 14t, y = 2t, z = 15t.

14 î + 2ĵ + 15k̂

https://dl.doubtnut.com/l/_BvMK8ezNDcI7
https://dl.doubtnut.com/l/_scO933hHcxDT


Answer: D

Watch Video Solution

2. Consider three planes ,  and 


. Let  be the lines of intersection of the

planes  and  and  and  respectively. 


Statement I Atleast two of the lines  and  are non-parallel. 


Statement II The three planes do not have a common point.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

P1 : x − y + z = 1 P2 : x + y − z = − 1

P3 : x − 3y + 3z = 2 L1, L2, L3

P2 P3, P3 P1, P1 P2

L1, L2 L3

https://dl.doubtnut.com/l/_scO933hHcxDT
https://dl.doubtnut.com/l/_6EIBvSXUcE20


Watch Video Solution

3. Statement 1: Let A,B,C be the image of point  in  and

 planes respectively. Then, the equation of the plane passing through

points A,B,C cuts intercepts a,b,c on the coordinate axes. Statement 2: The

image  of a point  in the plane 

is given by 

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

View Text Solution

P (a, b, c) Y Z, ZX

XY

(α, β, γ) (x1, y1, z1) ax + by + cz + d = 0

= = = −
α − x1

a

β − y1

b

γ − z1

c

2(ax1 + by1 + cz1 + d)

a2 + b2 + c2

https://dl.doubtnut.com/l/_6EIBvSXUcE20
https://dl.doubtnut.com/l/_x5e2cmHzjQ3O


4. Consider the plane  and two points  and 

. 


Statement 1: PQ is parallel to the normal to the plane. 

Statement 2:  is the image of point  in he plane 

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

π : x + y − 2z = 3 P (2, 1, 6)

Q(6, 5, − 2)

Q P π

https://dl.doubtnut.com/l/_4lSsZdATjZgJ


5. Statement 1: Lthe cartesian equation of the plane

 is  


Statement 2: The non parametric form of the plane

 is 

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

→
r = ( î − ĵ) + λ( î + ĵ + k̂) + μ( î − 2ĵ + 3k̂) 5x − 2y − 3z = 7

→
r =

→
a + λ

→
b + μ

→
c [→

r
→
b

→
c ] = [→

a
→
b

→
c ]

https://dl.doubtnut.com/l/_7QDAzLFmYdDL


6. Statement 1: If the vectors  and  are non collinear, then the lines

 and  are

coplanar. 

Statement 2: There exists  and  such that the two values of  in

statement -1 become same

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

→
a

→
c

→
r = 6

→
a −

→
c + λ(2

→
c −

→
a )

→
r =

→
a −

→
c + μ(

→
a + 3

→
c )

λ μ
→
r

https://dl.doubtnut.com/l/_dzvBRH9sbvcN


7. Statement 1: If  is an integer the the straight lines 

 


and  intersect at a point for 

. 


Statement 2: Two straight lines intersect if the shortest distance between

them is zero.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

a

→
r = î + 2 î + 3k̂ + λ(aî + 2ĵ + 3k̂)

→
r = 2 î + 3ĵ + k̂ + μ(3 î + ĵ + 2k̂)

a = − 5

https://dl.doubtnut.com/l/_tmD7XlgE0hNb
https://dl.doubtnut.com/l/_uOb0wIXe6g31


8. Statement-I The lines

 are coplanar and

equation of the plane containing them is  


Statement-II The line  is perpendicular to the plane

 and parallel to the plane .

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

= = and = =
x − 1

1

y

−1

z + 1

1

x − 2

1

y + 1

2
z

3

5x + 2y − 3z − 8 = 0

= =
x − 2

1

y + 1

2

z

3

3x + 6y + 9z − 8 = 0 x + y − z = 0

https://dl.doubtnut.com/l/_uOb0wIXe6g31


9. Statement 1: A point on the line  at a

distance  from the point  lies on the lne 

 

Statement 2: If  is the distance between the point 

and the point of intersectionof the line  with

the plane  then 

A. A.Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. C. Statement-1 is True, Statement-2 is False.

D. D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

= =
x + 2

3

y + 1

2

z − 3

2

3√2 (1, 2, 3)

= =
x + 7

5

y + 5

4

z − 2

1

d ( − 1, − 5, − 10)

= =
x − 2

3

y + 1

4

z − 2

12

x − y + z = 5 d = 13

https://dl.doubtnut.com/l/_t1UWOllMeHJm
https://dl.doubtnut.com/l/_oECCQsuyGEjr


10. Consider the line  and the plane 

 


Statement 1: The line  intersects the plane  at the point (1,0,-7). 


Statement 2: The angle  between the line  and the plane  is given by 

.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

L :
→
r ( î + 3ĵ − k̂) + λ(ĵ + 2k̂)

π :
→
r ( î + 4ĵ + k̂) + 6 = 0

L π

θ L π

θ = cos − 1( )
1
2

1

5

https://dl.doubtnut.com/l/_oECCQsuyGEjr


11. Statement 1: The plane  contains the line 

 and , and is perpendicular to 

. Statement 2: The plane , meets the

line  at the point (1,1,1)

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: C

Watch Video Solution

5x + 2z − 8 = 0

2x − y + z − 3 = 0 3x + y + z = 5

2x − y − 5z − 3 = 0 3x + y + z = 5

x − 1 = y + 1 = z − 1

https://dl.doubtnut.com/l/_wjqjFrDCuvyx


12. Statement-I The point  is the mirror image of the point 

 in the plane . 


Statement-II The plane  bisect the line segment joining 

.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

A(3, 1, 6)

B(1, 3, 4) x − y + z = 5

x − y + z = 5

A(3, 1, 6) and B(1, 3, 4)

https://dl.doubtnut.com/l/_v22T18fUU372


13. Statement-I The point  is the mirror image of the point 

 in the line . 


Statement-II The line  bisect the line segment

joining .

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

A(1, 0, 7)

B(1, 6, 3) = =
x

1

y − 1

2

z − 2

3

= =
x

1

y − 1

2

z − 2

3

A(1, 0, 7) and B(1, 6, 3)

https://dl.doubtnut.com/l/_y0KX0gC2V8lb


14. The equations of two straight lines are 

 and  


Statement 1: The given lines are coplanar. 

Statement 2: The equations 

 


 


 


are consistent.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

= =
x − 1

2

y + 3

1

z − 2

−3
= =

x − 2

1

y − 1

−3

z + 3

2

2r − s = 1

r + 3s = 4

3r + 2s = 5

https://dl.doubtnut.com/l/_q27PL7DxqONj


15. Given two straight lines whose equations are 

 and  


Statement 1: The line of shortest distance between the given lines is

perpendicular to the plane . 


Statement 2 : The direction ratios of the normal to the plane

 are proportonal to .

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

= =
x − 3

1

y − 5

−2
z − 7

1
= =

x + 1

7

y + 1

−6

z + 1

1

x + 3y + 5z = 0

ax + by + cz + d = 0 , ,
a

d

b

d

c

d

https://dl.doubtnut.com/l/_q27PL7DxqONj
https://dl.doubtnut.com/l/_56SWLvf8q8FF


Exercise

16. Statement 1: The shortest distance between the lines 

and  is . Statement 2: The shortest distance

between two parallel lines is the perpendicular distance from any point

on one of the lines to the other line.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is not a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

= =
x

2

y

−1
z

2

= =
x − 1

4

y − 1

−2

z − 1

4
√2

https://dl.doubtnut.com/l/_56SWLvf8q8FF
https://dl.doubtnut.com/l/_2U3k766yQbLq


1. The perpendicular distance from the origin to the plane through the

point (2,3,-1) and perpendicular to the vector  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

3 î − 4ĵ + 7k̂

13

√74
−13

√74

13

2. The equation of the plane perpendicular to the line

 and passing through the point (2,3,1), is

A. 

B. 

C. 

= =
x − 1

1

y − 2

−1

z + 1

2

→
r . ( î + ĵ + 2k̂) = 1

→
r . ( î − ĵ + 2k̂) = 1

→
r . ( î − ĵ + 2k̂) = 7

https://dl.doubtnut.com/l/_XteXZvmcPZTy
https://dl.doubtnut.com/l/_srToFasl0FKK


D. none of these

Answer: B

Watch Video Solution

3. The locus of a point which moves so that the difference of the squares

of its distance from two given points is constant, is a

A. straight line

B. plane

C. sphere

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_srToFasl0FKK
https://dl.doubtnut.com/l/_WfqwcAdA8nIa


4. If the position vectors of the points A and B are  and 

 respectively then the equation of the plane through B and

perpendicular to AB is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

3 î + ĵ + 2k̂

î − 2ĵ − 4k̂

→
r . (2 î + 3ĵ + 6k̂) = 28

→
r . (2 î + 3ĵ + 6k̂) = 32

r̂. (2 î + 3ĵ + 6k̂) + 28 = 0

5. The vector equation of the plane passing through the origin and the

line of intersection of the planes  is

A. 

B. 

→
r .

→
a = λ and

→
r .

→
b = μ

→
r . (λ

→
a − μ

→
b ) − 0

→
r . (λ

→
b − μ

→
a ) = 0

https://dl.doubtnut.com/l/_V0MR5qHyiRiZ
https://dl.doubtnut.com/l/_lc3FG02z8p5h


C. 

D. 

Answer: B

Watch Video Solution

→
r . (λ

→
a + μ

→
b ) = 0

→
r . (λ

→
b + μ

→
a ) = 0

6. The position vectors of points A and B are 

 respectively. The 


equation of a plane is  The 

poinys A and B

A. lie on the plane

B. are on the same side of the plane

C. are on the opposite side of the plane

D. none of these

Answer: C

W t h Vid S l ti

î − ĵ + 3k̂ and 3 î + 3ĵ − k̂

→
r ⋅ (5 î + 2ĵ − 7k̂) = 0

https://dl.doubtnut.com/l/_lc3FG02z8p5h
https://dl.doubtnut.com/l/_fKH9sDuZbbDU


Watch Video Solution

7. The vector equation of the plane through the point  and

parallel to the plane  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

2 î − ĵ − 4k̂

r ⋅ (4 î − 12ĵ − 3k̂) − 7 = 0

→
r . (4 î − 12ĵ − 3k̂) = 0

→
r . (4 î − 12ĵ − 3k̂) = 32

→
r . (4 î − 12ĵ − 3^) = 12

8. The vector equation of the plane through the point  and

passing through the line of intersection of the plane

 is

A. 

(2, 1, − 1)

r ⋅ ( î + 3ĵ − k̂) = 0 and r ⋅ (ĵ2k̂) = 0,

→
r . ( î + 9ĵ + 11k̂) = 0

https://dl.doubtnut.com/l/_fKH9sDuZbbDU
https://dl.doubtnut.com/l/_U1JJ29XWBjeH
https://dl.doubtnut.com/l/_ANfZpFiSyFdq


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

r̂. ( î + 9ĵ + 11k̂) = 6

r̂. ( î − 3ĵ − 13k̂) = 0

9. Equation of a plane passing through the intersection of the planes

 and  and passing through

the point  is :

A. 

B. 

C. 

D. none of these

Answer: B

→
r . (3 î − ĵ + k̂) = 1

→
r . ( î + 4ĵ − 2k̂) = 2

( î + 2ĵ − k̂)

→
r . (2 î + 7ĵ − 13k̂) = 1

→
r . (2 î − 7ĵ − 13k̂) = 1

→
r . (2 î + 7ĵ + 13k̂) = 0

https://dl.doubtnut.com/l/_ANfZpFiSyFdq
https://dl.doubtnut.com/l/_iY0BvUJDIP4K


Watch Video Solution

10. The vector equation of a plane which contains the line

 and perpendicular to the plane  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

→
r = 2 î + λ(ĵ − k̂)

→
r . ( î + k̂) = 3

→
r . ( î − ĵ − k̂) = 2

→
r . ( î + ĵ − k̂) = 2

→
r . ( î + ĵ + k̂) = 2

11. The equation of the plane containing the lines

 is :

A. 

→
r =

→
a 1 + λ

→
b and =

→
a 2 + μb̂

→
r . (

→
a 1 −

→
a 2) ×

→
b = [→

a 1
→
a 2

→
b ]

https://dl.doubtnut.com/l/_iY0BvUJDIP4K
https://dl.doubtnut.com/l/_ZLsL6v8jYpBU
https://dl.doubtnut.com/l/_eoPNyoR5lJhC


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

→
r . (

→
a 2 −

→
a 1) ×

→
b = [→

a 1
→
a 2

→
b ]

→
r . (

→
a 1 +

→
a 2) ×

→
b = [→

a 2
→
a 1

→
b ]

12. The equation of the plane containing the lines

 is :

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

→
r =

→
a 1 + λ

→
b and =

→
a 2 + μb̂

[ →
r

→
a 1

→
a 2

] = 0

[
→
r ,

→
a 1,

→
a 2)] =

→
a 1.

→
a 2

[ →
r

→
a 2

→
a 1

] =
→
a 1.

→
a 2

https://dl.doubtnut.com/l/_eoPNyoR5lJhC
https://dl.doubtnut.com/l/_X3txLlequwq2


13. Find the equation of plane passing through the line of intersection of

planes  , whose

perpendicular distance from origin is one unit.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

→
r . ( î + 3ĵ) + 6 = 0 and

→
r . (3 î − ĵ − 4k̂) = 0

−2 î + 7ĵ + 13k̂

2 î + 7ĵ − 13k̂

−2 î − 7ĵ + 13k̂

2 î + 7ĵ + 13k̂

14. Find the vector equation of the plane in which the lines

 and 

lie.

→
r = î + ĵ + λ( î + 2ĵ − k̂)

→
r = ( î + ĵ) + μ( − î + ĵ − 2k̂)

https://dl.doubtnut.com/l/_X3txLlequwq2
https://dl.doubtnut.com/l/_yYXzqBfZvRa9
https://dl.doubtnut.com/l/_Ex8tW8j3B81Z


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

→
r . ( î + ĵ + k̂) = 0

→
r . ( î − ĵ − k̂) = 0

→
r . ( î + ĵ + k̂) = 3

15. The Cartesian equation of the plane

 is
 a. 
 b.


c. 
d.

A. 

B. 

C. 

D. 

→
r = (1 + λ − μ) î + (2 − λ) ĵ + (3 − 2λ + 2μ)k̂ 2x + y = 5

2x − y = 5 2x + z = 5 2x − z = 5

2x + y = 5

2x − y = 5

2x + z = 5

2x − z = 5

https://dl.doubtnut.com/l/_Ex8tW8j3B81Z
https://dl.doubtnut.com/l/_W7T7sksJxX2J


Answer: C

Watch Video Solution

16. The perpendicular distance between the line

 and the plane 

 is :

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

→
r = 2 î − 2ĵ + 3k̂ + λ( î − ĵ + 4k̂)

→
r . ( î + 5ĵ + k̂) = 5

10

3√3

10

3

10/9

https://dl.doubtnut.com/l/_W7T7sksJxX2J
https://dl.doubtnut.com/l/_X07NkWFn8fit


17. The vector equation of the line of intersection of the planes

 and  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

→
r . (2 î + 3k̂) = 0

→
r . (3 î + 2ĵ + k̂) = 0

→
r = λ( î + 2ĵ + k̂)

→
r = λ( î − 2ĵ + 3k̂)

→
r = λ( î + 2ĵ − 3k̂)

18. A straight line  meets the plane  Then

position vector of P is

A. 

B. 

→
r =

→
a + λ

→
b

→
r .

→
n = 0atp.

→
a +

→
b

→
a .

→
n

→
b .

→
n

→
a

→
b

→
b .

→
n

→
a .

→
n

https://dl.doubtnut.com/l/_fN0l7Ymigbja
https://dl.doubtnut.com/l/_YXRQb5GDbXD5


C. 

D. none of these

Answer: C

Watch Video Solution

→
a −

→
a .

→
n

→
b .

→
n

19. The equation of the plane passing through three non - collinear points

with positions vectors a,b,c, is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

→
r . (

→
a ×

→
b +

→
b ×

→
c +

→
c ×

→
a ) = 0

→
r × (

→
a ×

→
b +

→
b ×

→
c ) = [→

a
→
b

→
c ]

→
r . (

→
a ×

→
b +

→
b ×

→
c +

→
c ×

→
a ) + [→

a
→
b

→
c ] = 0

https://dl.doubtnut.com/l/_YXRQb5GDbXD5
https://dl.doubtnut.com/l/_Q7dkpMuVgZRC
https://dl.doubtnut.com/l/_qOnFV9thxoVT


20. The length of the perpendicular from the origin to the plane passing

though three non-collinear points  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

→
a ,

→
b ,

→
c

[→
a

→
b

→
c ]

∣
∣
∣
→
a ×

→
b +

→
c ×

→
a +

→
b ×

→
c

∣
∣
∣

2[→
a

→
b

→
c ]

∣
∣
∣
→
a ×

→
b +

→
b ×

→
c +

→
c ×

→
a

∣
∣
∣

[→
a

→
b

→
c ]

21. The equation of the
 plane containing the line


 is


 where
 
 b. 


c. 
d. 

= =
x − x1

l

y − y1

m

z − z1

n

a(x − x1) + b(y − y1) + c(z − z1) = 0, ax1 + by1 + cz1 = 0

al + bm + cn = 0 = =
a

l

b

m

c

n
lx1 + my1 + nz1 = 0

https://dl.doubtnut.com/l/_qOnFV9thxoVT
https://dl.doubtnut.com/l/_S3c0IGwI6zP1


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax1 + by1 + cz1 = 0

al + bm + cn = 0

a/l = b/m = c/n

lx1 + my1 + nz1 = 0

22. Find the shortest distance between the following pairs of lines whose

Cartesian equation are:

A. 

B. 

C. 

D. 

= = and = =
x − 1

2

y − 2

3

z − 3

4

x − 2

3

y − 3

4

z − 5

5

1/√6

1/6

1/3

1/√3

https://dl.doubtnut.com/l/_S3c0IGwI6zP1
https://dl.doubtnut.com/l/_FbZzxhbJlor2


Answer: A

Watch Video Solution

23. If the lines and 

are perpendicular, find the value of k.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 1

−3

y − 2

2k

z − 3

2
= =

x − 1

3k

y − 1

1

z − 6

−5

−7/10

−10/7

−10

10/7

24. The direction ratios of a normal to the plane passing throuhg (0,0,1) ,

(0,1,2) and (1,2,3) are proportional to

https://dl.doubtnut.com/l/_FbZzxhbJlor2
https://dl.doubtnut.com/l/_bF5JDw7ne5l3
https://dl.doubtnut.com/l/_YhPkZyG2IUMJ


A. 0,1,-1

B. 1,0,-1

C. 0,0,-1

D. 1,0,1

Answer: A

Watch Video Solution

25. A variable plane is at a distance, k from the origin and meets the

coordinates axis in A, B , C. Then, the locus of the centroid of  is

A. 

B. 

C. 

D. 

Answer: D

△ ABC

x− 2 + y− 2 + z − 2 = k− 2

x− 2 + y− 2 + z − 2 = 4k− 2

x− 2 + y− 2 + z − 2 = 16k− 2

x− 2 + y− 2 + z − 2 = 9k− 2

https://dl.doubtnut.com/l/_YhPkZyG2IUMJ
https://dl.doubtnut.com/l/_ooy9STGltXTC


Watch Video Solution

26. Find the equation of the
 plane perpendicular to the line


and passing through the origin.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= =
x − 1

2

y − 3

−1
z − 4

2

2x − y + 2z − 7 = 0

2x + y + 2z = 0

2x − y + 2z = 0

2x − y − z = 0

27. Find the equation of the plane through the points (2,2,1) and (9,3,6)

2x+6y+6z=1`

A. 

and perpendica––r → thepla ≠

3x + 4y + 6z = 9

https://dl.doubtnut.com/l/_ooy9STGltXTC
https://dl.doubtnut.com/l/_y2KvZRuhRQrj
https://dl.doubtnut.com/l/_wxlvAWtL0d1h


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

3x + 4y − 5z + 9 = 0

3x + 4y − 5z − 9 = 0

28. The equation of the plane containing the two lines 

 and  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

= =
x − 1

2

y + 1

−1
z

3
= =

x

−1

y − 2

3

z + 1

−1

8x + y − 5z − 7 = 0

8x + y + 5z − 7 = 0

8x − y − 5z − 7 = 0

https://dl.doubtnut.com/l/_wxlvAWtL0d1h
https://dl.doubtnut.com/l/_NvvgvcJI7ZZH


29. The direction ratios of the normal to the plane passing through the

points  and paralle to the line 

 are proportional to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, − 2, 3), ( − 1, 2, − 1)

= =
x − 2

2

y + 1

3

z

4

2, 3, 4

4, 0, 7

−2, 0, − 1

2, 0, − 1

30. The equation of a plane through the point (2, 3, 1) 

and (4, -5, 3) and parallel to x- axis

A. y − 4z = 7

https://dl.doubtnut.com/l/_NvvgvcJI7ZZH
https://dl.doubtnut.com/l/_Hno8lqluUObo
https://dl.doubtnut.com/l/_aNEciBrcocEU


B. 

C. 

D. 

Answer: B

Watch Video Solution

y + 4z = 7

7 + 4z = − 7

x + 4z = 7

31. The angle between the lines

 is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

= = and = =
x + 4

1

y − 3

2

z + 2

3
x

3

y

−2
z

1

sin− 1 1

7

cos − 1 2

7

cos − 1 1

7

https://dl.doubtnut.com/l/_aNEciBrcocEU
https://dl.doubtnut.com/l/_BIQBVMzdzUtV


32. The equation of the plane which is perpendicular bisector of the line

joining the points  and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A(1, 2, 3) B(3, 4, 5)

x + y + z = 9

x + y + z = − 9

2 × 3y + 4z = 9

2x + 3y + 4z = − 9

33. If the position vectors of the point A and B are

 respectively. Then the eqaution of the

plane through B and perpendicular to AB is

A. 

3 î + ĵ + 2k̂ and î − 2ĵ − 4k̂

2x + 3y + 6z + 28 = 0

https://dl.doubtnut.com/l/_BIQBVMzdzUtV
https://dl.doubtnut.com/l/_PxqG38lmM3NM
https://dl.doubtnut.com/l/_NbyaqbtSfZ89


Chapter Test

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x + 2y + 6z = 28

2x − 3y + 6z + 28 = 0

3x − 2y + 6z = 28

1. The length of the perpendicular from the origin to the plane passing

through the point  and containing the line 

A. 

B. 

C. 

→
a

→
r =

→
b + λ

→
c

[→
a

→
b

→
c ]

∣
∣
∣
→
a ×

→
b +

→
b ×

→
c +

→
c ×

→
a

∣
∣
∣

[→
a

→
b

→
c ]

∣
∣
∣
→
a ×

→
b +

→
b ×

→
c

∣
∣
∣

[→
a

→
b

→
c ]

∣
∣
∣

→
b ×

→
c +

→
c ×

→
a

∣
∣
∣

https://dl.doubtnut.com/l/_NbyaqbtSfZ89
https://dl.doubtnut.com/l/_bTvauhkawAgq


D. 

Answer: C

Watch Video Solution

[→
a

→
b

→
c ]

∣
∣
∣
→
c ×

→
a +

→
a ×

→
b

∣
∣
∣

2. The value of  for which the lines  and 

 are perpendicular to each other is

A. 0

B. 1

C. -1

D. none of these

Answer: B

Watch Video Solution

λ = =
x − 1

1

y − 2

λ

z + 1

−1

= =
x + 1

−λ

y + 1

2

z − 2

1

https://dl.doubtnut.com/l/_bTvauhkawAgq
https://dl.doubtnut.com/l/_GD3bqTuOcmQn


3. The angle between the lines

 is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

= = and = =
x + 4

1

y − 3

2

z + 2

3
x

3

y

−2
z

1

π/2

π/3

π/6

4. The direction cosines of the line  are

A. 

B. 

C. 

D. none of these

6x − 2 = 3y + 1 = 2z − 2

, ,
1

√3

1

√3

1

√3

, ,
1

√14

2

√14

3

√14

1, 2, 3

https://dl.doubtnut.com/l/_aHNV24i2CQTw
https://dl.doubtnut.com/l/_xNuf2f0egDqH


Answer: B

Watch Video Solution

5. A line passes through two points  and .

The coordinates of a point on this lie at distance of 14 units from a are

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

A(2, − 3, − 1) B(8, − 1, 2)

(14, 1, 5)

( − 10, − 7, 7)

(86, 25, 41)

6. The position vector of a point at a distance of  units from

 on a line passing through the points  and parallel

3√11

î − ĵ + 2k̂ î − ĵ + 2k̂

https://dl.doubtnut.com/l/_xNuf2f0egDqH
https://dl.doubtnut.com/l/_uclzS1iDmqD4
https://dl.doubtnut.com/l/_L5l0RiNKUHpi


to the vector  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3 î + ĵ + k̂

10 î + 2ĵ − 5k̂

−8 î − 4ĵ − k̂

8 î + 4ĵ + k̂

−10 î − 2ĵ − 5k̂

7. The line joining the points  and the line

joining the points intersect at

A. 

B. 

C. 

D. none of these

6
→
a − 4

→
b + 4

→
c , − 4

→
c

−
→
a − 2

→
b − 3

→
c ,

→
a + 2

→
b − 5

→
c

−4
→
a

4
→
a −

→
b −

→
c

4
→
c

https://dl.doubtnut.com/l/_L5l0RiNKUHpi
https://dl.doubtnut.com/l/_5xdbJAx64NhC


Answer: D

Watch Video Solution

8. The image (or reflection) of the point (1,2-1) in the plane

 is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

→
r . (3 î − 5ĵ + 4k̂) = 5

(73/5, − 6/4, )
39

25

(73/25, 6/5, 39/25)

( − 1, − 2, 1)

9. The equation of the plane through the line of intersection of the

planes  andax + by + cz + d = 0 and dx + b' y + c' z + d' = 0

https://dl.doubtnut.com/l/_5xdbJAx64NhC
https://dl.doubtnut.com/l/_Dguwjrc7yLt8
https://dl.doubtnut.com/l/_6ILsRKp0MkNr


parallel to the line  is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y = 0 and z = 0

(ab' − a' b)x + (bc' − b' c)y + (ad' − a' d) = 0

(ab' − a' b)x + (bc' − c' c)h + (ad' − a' d)z = 0

(ab' − a' b)y + (ac' − a' c)z + (ad' − a' d) = 0

10. Angle between the line  and

the plane  is

A. 

B. 

C. 

D. 

→
r = (2 î − ĵ + k̂) + λ( − î + ĵ + k̂)

→
r . (3 î + 2ĵ − k̂) = 4

cos − 1( )
2

√42

cos − 1( )
−2

√42

sin− 1( )
2

√42

sin− 1( )
−2

√42

https://dl.doubtnut.com/l/_6ILsRKp0MkNr
https://dl.doubtnut.com/l/_c3EJ23JYIdcx


Answer: D

Watch Video Solution

11. The line through

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

î + 3ĵ + 2k̂ and ⊥ to the line 
→
r = ( î + 2ĵ − k̂) + (2 î + ĵ + k̂) and

→

→
r = ( î + 2ĵ − k̂) + λ( − î + 5ĵ − 3k̂)

→
r = î + 3ĵ + 2k̂ + λ( î − 5ĵ + 3k̂)

→
r = î + 3ĵ + 2k̂ + λ( î + 5ĵ + 3k̂)

→
r = î + 3ĵ + 2k̂ + λ( − î − 5ĵ − 3k̂)

https://dl.doubtnut.com/l/_c3EJ23JYIdcx
https://dl.doubtnut.com/l/_WK51NutBoFoV


12. The distance of the point having position vector  from

the straight line passing through the point  and parallel to the

vector,  is:

A. 7

B. 10

C. 9

D. none of these

Answer: D

Watch Video Solution

− î + 2ĵ + 6k̂

(2, 3, – 4)

6 î + 3ĵ − 4k̂

13. The position vector of the point in which the line joining the points

 and  cuts the plane through the origin and the points

 and  is

A. 

î − 2ĵ + k̂ 3k̂ − 2ĵ

4ĵ 2 î + k̂

5 î − 10ĵ + 3k̂

https://dl.doubtnut.com/l/_y7c2vsoD5lRY
https://dl.doubtnut.com/l/_rdRiLcD4MHOM


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(6 î − 10ĵ + 3k̂)
1

5

−6 î + 10ĵ − 3k̂

14. The two lines 

intersect at a point where  are scalars then (A)  are

non coplanar (B)  (C)  (D)

A. 

B. 

C. 

D. none of these

→
r =

→
a +

→
λ (

→
b ×

→
c ) and

→
r =

→
b + μ(

→
c ×

→
a )

→
λ and μ

→
a ,

→
b ,

→
c

∣
∣
→
a ∣

∣ =
∣
∣
∣

→
b

∣
∣
∣

= ∣
∣
→
c ∣

∣
→
a .

→
c =

→
b .

→
c

λ(
→
b x

→
c ) + μ(

→
c x

→
a ) =

→
c

→
a ×

→
c =

→
b ×

→
c

→
a .

→
c =

→
b .

→
c

→
b ×

→
a =

→
c ×

→
a

https://dl.doubtnut.com/l/_rdRiLcD4MHOM
https://dl.doubtnut.com/l/_mfVZg6F44gvo


Answer: B

Watch Video Solution

15. Lines  will lie in a Plane if

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

→
r =

→
a 1 + λ

→
b and

→
r =

→
a 2 + s

→
b

→
a 1 ×

→
a 2 =

→
0

→
b 1 ×

→
b 2 = 0

(
→
a 2 −

→
a 1) × (

→
b 1 ×

→
b 2) = 0

[→
a 1

→
b 1

→
b 1

] = [→
a 2

→
b 2

→
b 2

]

16. Equation of a line passing through  and perpendicular

to the plane  is

( − 1, 2, − 3)

2x + 3y + z + 5 = 0

https://dl.doubtnut.com/l/_mfVZg6F44gvo
https://dl.doubtnut.com/l/_hT7tq1q2MKpU
https://dl.doubtnut.com/l/_aaTWZmiVqQoU


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

= =
x − 1

−1

y + 2

1

z − 3

−1

= =
x + 1

−1

y − 2

1

z + 3

1

= =
x + 1

2

y − 2

3

z + 3

1

17. Find the Vector and Cartesian equation of line passing through (1, -2,

3) and parallel to the planes 

A. 

B. 

C. 

D. none of these

Answer: A

x − y + 2z = 5 and 3x + 2y − z = 6

= =
x − 1

−1

y + 2

1

z − 3

−1

= =
x − 1

2

y + 2

3

z − 3

1

= =
x + 1

−1

y − 2

1

z − 3

−1

https://dl.doubtnut.com/l/_aaTWZmiVqQoU
https://dl.doubtnut.com/l/_yZGENNR6PhLQ


Watch Video Solution

18. The distance between the planes given by 

 and  is

A. 1 unit

B.  units

C. 13 units

D. none of these

Answer: B

Watch Video Solution

→
r . ( î + 2ĵ − 2k̂) + 5 = 0

→
r . ( î + 2ĵ − 2k̂) − 8 = 0

13

3

19. Find shortest distance between the line 

A. 10 units

→
r = (5 î + 7ĵ + 3k̂) + λ(5 î − 6ĵ + 2k̂) and

→
r = (9 î + 13ĵ + 15k̂) +

https://dl.doubtnut.com/l/_yZGENNR6PhLQ
https://dl.doubtnut.com/l/_ZhEuDiWKYU3g
https://dl.doubtnut.com/l/_HwQ3dmOAn1yX


B. 12 units

C. 14 units

D. none of these

Answer: C

Watch Video Solution

20. Find the shortest distance between the lines

.

A. 

B. 

C. 

D. none of these

Answer: B

→
r = ( îi + 2ĵ + k̂) + λ(2 î + ĵ = 2k̂) and

→
r = 2 î − ĵ − k̂ + μ(2 î + ĵ

0

√101/3

101/3

https://dl.doubtnut.com/l/_HwQ3dmOAn1yX
https://dl.doubtnut.com/l/_C36FcAzw3L2Z


Watch Video Solution

21. Find the equation of the plane through the points

 and perpendicular to the plane 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(2, 2, 1) and (9, 3, 6) 2x + 6y + 6z = 1

3x + 4y + 5z = 9

3x + 4y − 5z = 9

3x + 4y − 5z − 9 = 0

22. The equation of the plane containing the line

 and origin is :

A. 

→
r = î + ĵ + λ(2 î + ĵ + 4k̂)

→
r . ( î + 2ĵ − k̂) = 3

https://dl.doubtnut.com/l/_C36FcAzw3L2Z
https://dl.doubtnut.com/l/_n55xC0vVfhqg
https://dl.doubtnut.com/l/_tzOjHknRARvF


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

→
r . ( î + 2ĵ − k̂) = 6

→
r . ( − î − 2ĵ + k̂) = 3

23. Find ten equation of the plane passing through the point 

and containing the line 
.

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(0, 7, − 7)

= =
x + 1

−3

y − 3

2

z + 2

1

x + y + z = 1

x + y + z = 2

x + y + z = 0

https://dl.doubtnut.com/l/_tzOjHknRARvF
https://dl.doubtnut.com/l/_6NGcptJ6P5MP


24. Equation of the plane passing through the point (1,1,1) and

perpendicular to each of the planes  and 

l is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + 2y + 3z = 7

2x − 3y + 4z = 0

17x − 2y + 7z = 12

17x + 2y − 7z = 12

17x + 2y + 7z = 12

17x − 2y − 7z = 12

25. A variable plane at constant distance p form the origin meets the

coordinate axes at P,Q, and R. Find the locus of the point of intersection

of planes drawn through P,Q, r and parallel to the coordinate planes.

https://dl.doubtnut.com/l/_6NGcptJ6P5MP
https://dl.doubtnut.com/l/_XB4HP6vZv6Pp
https://dl.doubtnut.com/l/_QuVCnA1qnz0U


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ + = 1
a

x

b

y

c

z

ax + by + cz = 1

+ + = − 1
a

x

b

y

c

z

ax + by + cz = − 1

26. The equation of the line of intersection of the planes 

and  can be written as

A. 

B. 

C. 

D. 

Answer: A

x + 2y + z = 3

6x + 8y + 3z = 13

= =
1 − 2x

1

4y − 5

3

−z

1

= =
x − 2

2

y + 1

3

z − 3

4

= =
x + 2

2

y − 1

−3

z − 3

4

= =
x + 2

2

y + 2

3

z − 3

4

https://dl.doubtnut.com/l/_QuVCnA1qnz0U
https://dl.doubtnut.com/l/_eDZPv7qo9rG4


Watch Video Solution

27. Find the Cartesian form the equation of the plane

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

→
r = (s − 2t) î + (3 − t) ĵ + (2s + t)k̂.

2x − 5y − z − 15 = 0

2x − 5y + z − 15 = 0

2x − 5y − z + 15 = 0

2x + 5y − z + 15 = 0

28. If the planes  and 

are perpendicular to each other then value of  is

A. 0

→
r . (2 î − λĵ + 3k̂) = 0

→
r . (λî + 5ĵ − k̂) = 5

λ2 + λ

https://dl.doubtnut.com/l/_eDZPv7qo9rG4
https://dl.doubtnut.com/l/_SDt2lm2vKJx0
https://dl.doubtnut.com/l/_GjAO9Oa5Dptw


B. 2

C. 3

D. 1

Answer: A

Watch Video Solution

29. The equation of the plane perpendicular to the line

 and passing through the point (2,3,1), is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

= =
x − 1

1

y − 2

−1

z + 1

2

→
r . ( î + ĵ + 2k̂) = 1

→
r . ( î − ĵ + 2k̂) = 1

→
r . ( î − ĵ + 2k̂) = 7

→
r . ( î + ĵ − 2k̂) = 10

https://dl.doubtnut.com/l/_GjAO9Oa5Dptw
https://dl.doubtnut.com/l/_YfEuVM192QYF


30. Find the equation of a plane which passes through the
point (3, 2, 0)

and contains the line 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= = .
x − 3

1

y − 6

5
z − 4

4

x − y + z = 1

x + y + z = 5

x + 2y − z = 0

2x − y + z = 5

31. Determine the point in XY-plane which is equidistant from thee
points

A. (1,2,3)

B. (-3,2,0)

A(2, 0, 3), B(0, 3, 2)andC(0, 0, 1).

https://dl.doubtnut.com/l/_YfEuVM192QYF
https://dl.doubtnut.com/l/_lNQBiie0OyVC
https://dl.doubtnut.com/l/_3in0qxcxDpT1


C. (3,-2,0)

D. (3,2,0)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3in0qxcxDpT1

